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Question Numbers : (1 to 5)

Question Label : Comprehension
The following table shows the percentage of marks obtained by six different students in six different
subjects A-F of MCA programme in a University, alongwith the maximum marks in each subject
(shown in brackets). Based on the data in the table, answer the questions that follow.
Student-wise Percentage of Marks in Six Subjects

Subjects (Maximum Marks)
A (150) | B (100) | C(150) | D (125) | E(75) | F(50)
Anil | 66% | 75% | 88% | 56% | 56% | 90%
Arman | 82% | 76% | 84% | 96% | 92% | 8%
Arpit | 76% | 66% | 78% | 88% | 72% | 70%
Gaurav| 90% | 8% | 96% | 76% | 84% | 86%
Gurjit | 64% | 70% | 68% | 72% | 68% | 74%
Priva | 48% | 56% | 50% | o64% | 64% | 58%

Students

Sub questions



Question Number : 1 Question Id : 87827039824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

How many marks did Anil get in all the six subjects together ?

(1) 369
(2) 463
(3) 558
(4) 496

Options :

878270156441. 1
878270156442. 2
878270156443. 3

878270156444. 4

Question Number : 2 Question Id : 87827039825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Total marks obtained in all the six subjects together is more than 490 by exactly students.
(1) two

2
3

4

(2) three

(3) four

(4) five
Options :
878270156445. 1
878270156446. 2
878270156447. 3

878270156448. 4

Question Number : 3 Question Id : 87827039826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

If M and N represent the average marks obtained by all the six students together in subjects C and
E, respectively, then (M, N) =

(1) (112, 56.5)
(2) (114, 55)

(3) (115, 56)

(4) (116, 54.5)
Options :

878270156449. 1
878270156450. 2
878270156451. 3

878270156452. 4

Question Number : 4 Question Id : 87827039827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

together. (rounded off to two digits after decimal)
() 27.35

Marks obtained by Gauravare % more than that of Gurjit in all the six subjects

(2) 2452
(3) 29.45
(4) 2815
Options :

878270156453. 1
878270156454. 2
878270156455. 3

878270156456. 4

Question Number : 5 Question Id : 87827039828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



What is the different between the average marks obtained in subjects A and E by all the six students
together ?

(1) 48

(2) 50

@3) 52

g

Options:

=y

878270156457. 1
878270156458. 2
878270156459. 3
878270156460. 4

Question Id : 87827039823 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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A (150) | B(100) | C(150) | D(125) | E(75) | F(50)
g | 6% | B% | 8% | 56% | 56% | 90%
aoH | 82% | 7% | 8% | 96% | 92% | 88%
afm | 76% | 66% | 78% | 88% | 7% | 70%
ic 90% | 8% | %% | 76% | 84% | 86%
T | 6% | 0% | 68% | T2% | 68% | 74%
fir 48% | 56% | 50% | 64% | 64% | 58%

Sub questions



Question Number : 1 Question Id : 87827039824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
g+t 3% faudi F1 T Ty fHere e &1 faad 3 fae ?

(1) 369
(2) 463
(3) 558
(4) 496
Options :

878270156441. 1
878270156442. 2
878270156443. 3

878270156444. 4

Question Number : 2 Question Id : 87827039825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

it 9% formt o e for 0 it o) o e foreet S fae fermfelan 01490 % arfier o et 82

Options :

878270156445. 1
878270156446. 2
878270156447. 3
878270156448. 4



Question Number : 3 Question Id : 87827039826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e M SN, F99: C A, fort & wvit e foranfefdt gro oo v foreramt w7t o 110 ol & i =
TEFIEAMN=_ |

1) (112, 565)

(2) (114,55
(3) (115, 55
(4) (116, 545)
Options :
878270156449. 1
878270156450. 2
878270156451 3

878270156452. 4

Question Number : 4 Question Id : 87827039827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
ol B% forl 1 O WY TR TG g 9 o TS AR A SR A g W %
fv 1 (cera o T & i A ol fo T )
(1) 27.35
(2) 2452
(3) 2945
(&) 2815
Options :
878270156453. 1
878270156454. 2
878270156455. 3

878270156456. 4



Question Number : 5 Question Id : 87827039828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

a5t e forenfeldl ot e T fetet A oiR B fomal & o of & ofvga & weg o o 7

(1) 48
(2) 50
(3) 52
(4) 54
Options :

878270156457. 1
878270156458. 2
878270156459. 3

878270156460. 4

Sub-Section Number : 2
Sub-Section Id : 8782701672
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827039829 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following types of assessments would be most beneficial for assessing a student’s
ability to debate ?

(1) Formative Assessment

(2
&
(

Summative Assessment

s

4

) Ipsative Assessment
) Performance Assessment

Options :
878270156461. 1

878270156462. 2



878270156463. 3

878270156464. 4

Question Number : 6 Question Id : 87827039829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
oo 1 et o 9 R a1 e ferrfe o are-fore e A o e F % fa
ol TR ¢/
(1) TR T

Options :

878270156461. 1
878270156462. 2
878270156463. 3

878270156464. 4

Question Number : 7 Question Id : 87827039830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I :  Edmodo (online tool) helps teachers to stay in touch with parents, share updates
and discuss student progress.

Statement II:  Duolingo is a online language learning platform.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270156465. 1

878270156466. 2

878270156467. 3

878270156468. 4

Question Number : 7 Question Id : 87827039830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270156465. 1

878270156466. 2



878270156467. 3
878270156468. 4

Question Number : 8 Question Id : 87827039831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In self-directed learning, metacognitive knowledge includes :
(A) Contextual knowledge

(B) Factual knowledge

(C) Procedural knowledge

(D) Technological knowledge

(E) Practical knowledge

Choose the correct answer from the options given below :

(1) (A), (D) and (E) Only

(2) (C) and (D) Only
(3) (A), (B) and (C) Only
(4) (B) and (D) Only

Options :

878270156469. 1
878270156470. 2
878270156471.3

878270156472. 4

Question Number : 8 Question Id : 87827039831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



- fdfera siferm # sifergamreTs 99 o Aifed €
(A) Haulcas 1

(B) ATHF TH

(C) R s I

(D) HwEfTeR 34

(E) oI I

9 feu o fosredi # | W& SO FGH Hif
() e (A), (D) 3T (E)

(2) 9 (C) 3R (D)
(3) %A (A), (B) 3R (C)
(4) 9 (B) 3R (D)
Options :

8782701564609. 1
878270156470. 2
878270156471. 3
878270156472. 4

Question Number : 9 Question Id : 87827039832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which learning sl}fle mvolves the extent to which students approach leamjng materials in a way
that helps them understand the meaning of the materials :

(1)  Surface styles
(2) Impulsivestyles
(3)  Deep styles

(4)  Reflective styles

=y

Options :
878270156473. 1
878270156474. 2

878270156475. 3



878270156476. 4

Question Number : 9 Question Id : 87827039832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
form o $eft # 7 Wi € o fornel o v e e et o o a4 eEa € R 9W ®
T 1 oAl g H e e €7
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2
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Options :
878270156473. 1
878270156474. 2
878270156475. 3

878270156476. 4

Question Number : 10 Question Id : 87827039833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"When competent readers encounter new sentences in their native language, they read them
automatically” is an example of learning ?

(I) High-road transfer

2

Near transter

}

2
(3) Low-road transfer
(4) Far transfer
Options :
878270156477. 1

878270156478. 2



878270156479. 3

878270156480. 4

Question Number : 10 Question Id : 87827039833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270156477. 1
878270156478. 2
878270156479. 3

878270156480. 4

Question Number : 11 Question Id : 87827039834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Identify the software used for detecting plagiarism :
(A) Mendley

(B) Turnitin

(C) Compiler

(D) Ithenticate

Choose the correct answer from the options given below :
(I) (A) and (B) Only

() (A), (B) and (C) Only

(3) (A), (B) and (D) Only

(4) (B) and (D) Only

Options:

878270156481. 1

878270156482. 2

878270156483. 3

878270156484. 4

Question Number : 11 Question Id : 87827039834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
aifeferss =1 & 9 &R F AU 5§ 9N S a9 9 F UEEE '
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)
(2)
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(4)
Options :

878270156481. 1



878270156482. 2
878270156483. 3

878270156484. 4

Question Number : 12 Question Id : 87827039835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following approaches to the analysis of content is based on the study of signs ?
(1) Semiotics

@)

(3) Content Analysis
)

Ethnography

Quantitative Research

Options :

878270156485. 1
878270156486. 2
878270156487. 3
878270156488. 4

Question Number : 12 Question Id : 87827039835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

foreerareg o forvern o1 Ferferfian m-T1 S W (Ferel) o s W amefia 82
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—

Options:
878270156485. 1

878270156486. 2



878270156487. 3

878270156488. 4

Question Number : 13 Question Id : 87827039836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following in correct sequence according to APA style of referencing :
(A) Title of the research article

(B) Year of publication

(C) Name of journal

(D) Name of anthor

Choose the correct answer from the options given below :

(1) (@A) ), (©) D)

@ (&) (©) D) (B)
() @) (A)(©) B
(4 @) (B) (4) ©

Options :

878270156489. 1
878270156490. 2
878270156491. 3

878270156492. 4

Question Number : 13 Question Id : 87827039836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270156489. 1
878270156490. 2
878270156491. 3

878270156492. 4

Question Number : 14 Question Id : 87827039837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It you wish to test whether p[)pulation mean 1 lower than some h}fpnthesized value, you would

apply :

(1) one-tailed test

(2) two-tailed test

(3) half-tailed test

(4)  three-tailed test

Options :

878270156493. 1

878270156494, 2

878270156495, 3

878270156496. 4



Question Number : 14 Question Id : 87827039837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 1 78 W T e & o a0 SHeers e, Teresios M 8 w9 8 @ o feffe o
T {9 T 1 W F?

Options :

878270156493. 1
878270156494. 2
878270156495. 3

878270156496. 4

Question Number : 15 Question Id : 87827039838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “ante” used inacademic
writing ?
(1) anonymous

(2) before
(3) after
g

s |

4) and others
Options :
878270156497. 1
878270156498. 2
878270156499. 3

878270156500. 4



Question Number : 15 Question Id : 87827039838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270156497. 1
878270156498. 2
878270156499. 3

878270156500. 4

Question Number : 16 Question Id : 87827039839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

All forms of communication are evaluated in relation to :
(1) Face to face communication

(2) Radio transmission

(3) Television entertainment
(4) Internet usage

Options :

878270156501. 1
878270156502. 2
878270156503. 3

878270156504. 4



Question Number : 16 Question Id : 87827039839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[l YR % FRIU o Hodich feread W 8 forger gey | foran s ¢ ?
(1) T

(2) fed yERy

(3) TEIA HARSH

(4) T W ITE
Options :

878270156501. 1
878270156502. 2
878270156503. 3

878270156504. 4

Question Number : 17 Question Id : 87827039840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the fs:)llnwing media is often described as ‘one da}r best seller’ ?

(1) Radio

(2) Internet
(3) Novel
(4) Newspaper

Options :

878270156505. 1
878270156506. 2
878270156507. 3

878270156508. 4

Question Number : 17 Question Id : 87827039840 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fr=fafas § @ g dfea & seam w3 ‘o fo7 &1 5w fogpa’ & &0 W fen S 82

(1) e
() TR
(3) S9H
(4) HHER
Options :

878270156505. 1
878270156506. 2
878270156507. 3

878270156508. 4

Question Number : 18 Question Id : 87827039841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Greek rhetorical communication Emphasised on the elements of :

Delayed feedback

B) Lower class language

D) Ethos
E) Pathos

Choose the correct answer from the options given below :

(
(
(C) Logos
(
(

() (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (A), (B) and (D) Only
4) (©), (D) and (E) Only

Options:
878270156509. 1

878270156510. 2



878270156511. 3

878270156512. 4

Question Number : 18 Question Id : 87827039841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT SrRTZargul Yol H foRe qeell 9wl T s o ?
(A) Taafaed gfaqfee (feere wieds)

(B) =1 =i =1 v

(C) W (T

(D) =R (Eo7H)

(E) h&W W (U9i9)

1 feu T fasredi § € W@ SO #1999 FN

(1) %9 (A), (B) 3R (C)
(2) %99 (B), (C) ¥R (D)
(3) &F9A (A), (B) IR (D)
(4) 9 (C), (D) ¥R (E)

Options :

878270156509. 1
878270156510. 2
878270156511. 3

878270156512. 4

Question Number : 19 Question Id : 87827039842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : ~ When passive defence systems are encouraged, a defensive response will resist
attitudinal change, if we apply the inoculation theory of communication.

Statement I1; A strong dose of argument will strengthen the receiver’'s immune system.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270156513. 1

878270156514. 2

878270156515. 3

878270156516. 4

Question Number : 19 Question Id : 87827039842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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o St vRae 1 A

R (1) : T T B A o S el S g |

I Fo o e, 3 fow T ot B ¥ Wl S T i

(1) U1 BRI TR

() FRIMFW T 999 ¢

(3) R L H ¢, ©ifé o 11 97 2
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Options :

878270156513. 1

878270156514. 2



878270156515. 3

878270156516. 4

Question Number : 20 Question Id : 87827039843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Through feedback, students can later critique their own communication
competence outside the classroom.

Statement II:  Motivational orientation towards communication should be identified by teachers
to better the communication competence of the students.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270156517. 1

878270156518. 2

878270156519. 3

878270156520. 4

Question Number : 20 Question Id : 87827039843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



FIﬁaWﬁ'QﬂT{%‘:
TR (1): Vel (Treas) & meam g, 3 o W e W AT S O ) e 1 T g
el

T (1) e gm0 w9Tm % oo aHfirRomers sfvweEm #1 wan # 9 ak afE om 5
Y 47 oF B

TG o & e H, A fou T foeredt # 4 W S T A

(1) RIS BRI T2

() FRIIMFWI T 959 ¢

(3) 1 HA ¢, Cifé e 11 997 2

(4) U1 H &, A FAHA &

Options:

878270156517. 1
878270156518. 2
878270156519. 3

878270156520. 4

Question Number : 21 Question Id : 87827039844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A person travels 365 km in 8 hours in two stages. In the first part of the journey, he travels by bus
at the speed of 40 km/hour and in the second part of the joumey, he travels by train at the speed
of 55 km/hour. How much distance did he travel by train ?

) 165 km
) 170 km
) 200 km
) 164 km

Options :
878270156521. 1
878270156522. 2

878270156523. 3



878270156524. 4

Question Number : 21 Question Id : 87827039844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T el <) 000 § Wi W 365 ot o A0 T € | U S A i 40 TR/ R T § 9 g
7 0 € 70 T 1 G o g 55 R A i A A A R | 3 A g Fre A
(1) 165 fot

2) 170 fereit
3) 200 foret

4) 164 ferri
Options :
878270156521. 1
878270156522. 2
878270156523. 3

878270156524. 4

Question Number : 22 Question Id : 87827039845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the average of 10 numbers is 40 and the average of six of them is 28, then the average of the
remaining four numbers is :

(1) 52

(2) 54
(3) 56
(4) 58

s

Options :
878270156525. 1

878270156526. 2



878270156527. 3

878270156528. 4

Question Number : 22 Question Id : 87827039845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o 10 Femell 1 399 40 € 741 370 | T &1 ol 28 €, 3 99 =R gemsd 1 sfed o a2
(1) 52

2) 54
3) 56
) 58

"

(
(4
Options :

878270156525. 1
878270156526. 2
878270156527. 3

878270156528. 4

Question Number : 23 Question Id : 87827039846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

¥ 3080 is divided among A,B and C so that half of A's part, one third of Bs part and one sixth of
C's part are equal. Then B's part is

(1) ¥ 840

(2) %90
(3) ¥ 1080
(4) 72

Options :
878270156529. 1

878270156530. 2
878270156531. 3



878270156532. 4

Question Number : 23 Question Id : 87827039846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3080 AB AR CH 3 AR aa S 2 A% 5 o B ¥ foed o vor-ford qwn O % o
&1 Tl T a0 &, A F e &

(1) T840

(2) %90
(3) 1080
(&) %70
Options :
878270156529. 1
878270156530. 2
878270156531. 3

878270156532. 4

Question Number : 24 Question Id : 87827039847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the values of P and in the [o]lawing number series ?

2, 8 o, 0y 12 28, PuCl i

(1) 48, 96
2) 20, 60
(3 12,120
(4) 48, 50
Options :

878270156533. 1
878270156534. 2

878270156535. 3



878270156536. 4

Question Number : 24 Question Id : 87827039847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

frefafea sie gEen § P IR Q 1 7F 71 8m 2
2,0,6,6,12,24, P, Q, ccovvvvveeee...

(1) 48, 96
(2) 20, 60
(3) 12, 120
(4) 48, 50
Options :

878270156533. 1
878270156534. 2
878270156535. 3

878270156536. 4

Question Number : 25 Question Id : 87827039848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A’ sells an article to ‘B at 20% profit. ‘B’ sells it to “C" at 15% loss. If ‘C" pays ¥ 510 for it, then ‘A’

purchased it at :

(1) 480

(2) 490

(3) T 500

(4) %520
Options :
878270156537. 1
878270156538. 2

878270156539. 3



878270156540. 4

Question Number : 25 Question Id : 87827039848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
‘A" Tl 1B I 20% T WS € 1 ‘B TR C o 15% B Wi € | A’ C A 3 for 2510
o1 ST fere, 1A 7 98 Fove o ey o2
(1) T480
(2) %490
(3) %500
(&) T520
Options :
878270156537. 1
878270156538. 2
878270156539. 3

878270156540. 4

Question Number : 26 Question Id : 87827039849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing abstractness :
(A) Mobile Telephone

(B) Android Phone

(C) Communication device

(D) Telephone

Choose the correct answer from the options given below :

(L) (®), (A), (D), Q)

(2) (®), (D), (A), (©)

(3) (©), (D), (A), (B)

4 (O, (A), (B), (D)

Options :



878270156541. 1
878270156542. 2
878270156543. 3

878270156544. 4

Question Number : 26 Question Id : 87827039849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fefcftaa gl 1 Ffeead/sTHad & 9ed %H H Haikyd S
(A) HIEEA SEHA

(B) U WM
(C) IR ITHI
(D) ZEHH

= feu v fasredi § 9 9 3T 1 =994 S0 -
() (B), (A), (D), (©)

(2) (B), (D), (A), (©)

(@) (©), (D), (A), (B)

(4) (©), (A), (B), (D)

Options :

878270156541. 1

878270156542. 2

878270156543. 3

878270156544. 4

Question Number : 27 Question Id : 87827039850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent ?
(A) No metals are gases

(B) No gases are metals
(C) No metals are non-gases
(D) All metals are non-gases

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (A), (B) and (C) Only

(3) (B), (©) and (D) Only

(4) (A) and (B) Only

Options:

878270156545, 1

878270156546. 2

878270156547. 3

878270156548. 4

Question Number : 27 Question Id : 87827039850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 2 ¥ FeA qifthed 9 9 97 & 2
(A) g off g Ty e @

(B) I oft g urg 7 ©

(C) wIZ off arg Te-Trm e &

(D) Toft agd T €

= feu v fasredi § 9 | 3O & =94 iU -
(1) = (A), (B) ¥R (D)

(2) % (A), (B) 3R (C)
(3) dd (B), (C) ¥R (D)
(4) FIA (A) 3R (B)

Options :



878270156545. 1
878270156546. 2
878270156547. 3

878270156548. 4

Question Number : 28 Question Id : 87827039851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"All phenomena in the universe are saturated with moral values. Therefore, we can conclude that
the universe for the Chinese is a moral universe”. Which informal fallacy is committed in the above
statement ?

(I)  Slippery Slope

(2) Begging the Question

(3) Hasty Generalisation

(4) Fallacy of Composition

Options :

878270156549. 1

878270156550. 2

878270156551. 3

878270156552. 4

Question Number : 28 Question Id : 87827039851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
"Rt H R TR At T 8 W (FER) O ¢ | e e e e ek & 6 i %
me#ﬁﬁﬁm%w T F | B T ST T A e
) (e Fer
(2) A A
(3) ot qHE
(4) wefagm




Options :

878270156549. 1
878270156550. 2
878270156551. 3
878270156552. 4

Question Number : 29 Question Id : 87827039852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logica]lyF equiualent to the statement “All beverages are
liquid" ?
(I)  All non-liquids are non-beverages.

2

Some beverages are liquid.

2
(3)  Allliquids are beverages.
g

}

Some ]11 uids are bevera ages.

Options:

878270156553. 1
878270156554. 2
878270156555. 3
878270156556. 4

Question Number : 29 Question Id : 87827039852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gl T e B B - freifatEd B § B T e e ¥ Y 38 FH F I §
1) 94 T-gd M-T 8 & |

) %9 T 7 e

) T Z I E

) F9 7 WA



Options :

878270156553. 1
878270156554. 2
878270156555. 3
878270156556. 4

Question Number : 30 Question Id : 87827039853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallatious, as per classical Indian school of logic, because of
the middle term being too narrow ?

(I)  All things are non-eternal because they are knowable

(2
3
(4

) The hill has fire because it is knowable
) Sound is eternal because it is audible

) Wherever there is fire, there is smoke
Options:

878270156557. 1

878270156558. 2

878270156559. 3

878270156560. 4

Question Number : 30 Question Id : 87827039853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R W = T 3 o frefetan 8 4 B0 1 9 g € i T v e S e
A ?

(1) T o - € e | 3

NIRERE UL Rk
(3) %A Ve & il 78 94 &
() e amE T g g
Options:
878270156557. 1
878270156558. 2
878270156559. 3

878270156560. 4

Question Number : 31 Question Id : 87827039854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement I+ (0.5625);, = (09),,
Statement I:  (0.3),, = (0.4BBB....);

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options :

878270156561. 1

878270156562. 2

878270156563. 3

878270156564. 4

Question Number : 31 Question Id : 87827039854 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FIT (D) : (0.5625);, = (0.9)4,
FYA (1) : (0.3);, = (0.4BBB.....)(
IR FYA & 3k H, A f9u 7 faskedi § | W& I T Hi

(1) IR FHAT IS 6 ©

() YT R YA T IFH €

(3) YR I HH T, Al HUTIL 370 B
(4) HITIHHA B, WAl AT A €
Options :

878270156561. 1
878270156562. 2
878270156563. 3

878270156564. 4

Question Number : 32 Question Id : 87827039855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following acronyms is incorrectly matched with its expanded form ?
(1) IMPRINT - Impacting Research, INnovation and Technology
2) BHIM - BHarat Interface for Money

3) UMANG - Unified Mobile Application for New age Generation
4) PayTM - Pay Through Mobile

(
(
(
Options:
878270156565. 1
878270156566. 2
878270156567. 3

878270156568. 4



Question Number : 32 Question Id : 87827039855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafed 4 § sm-49 dferaer #1359 foga ¥ 9 faem Tod €2
(1) 2w (IMPRINT) — SR @ gHrewH Ug s

) o (BHIM) — YRd 32059 BR A

) SHT (UMANG) — FfTHIEE HieTgel Terhym %R =J-Ts SReH
) YeH (PayTM) — ¥ ¢ HEmEA

Options :

878270156565. 1

878270156566. 2

878270156567. 3

878270156568. 4

Question Number : 33 Question Id : 87827039856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements in the context of digital technnlogies for entertainment :

Statement I :  In virtual reality, images generated from a computer are projected onto real life
objects or surroundings.

Statement Il :  In augmented reality, a simulated environment is created and the physical world
is completely shut out,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(

Options:



8782701565609. 1
878270156570. 2
878270156571. 3

878270156572. 4

Question Number : 33 Question Id : 87827039856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7% ) o fem T § ;oo Wi fefoem eif & g o

T (I): ST ARl H PG T Bl ) oo S /% A A1 ed R JEE
fepe o %

T (1) ; At arfod § ST Tiew S o o § o i SOl w% 9
IE |

I F & e B, 7 fou o fawed § 9 W I T S

(1) FRIIR FAA I T &

() RSN BRI S 59 ¢

(

(

e

) Y [ F E, WA O 11 9
4) ] A T, TR o 1

¥

Options :

878270156569. 1
878270156570. 2
878270156571. 3

878270156572. 4

Question Number : 34 Question Id : 87827039857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When wa l'dling videos from a web site using streaming teclmology, which of the fnllowing will be
mvolved ?

(A) DNS

(B) FIP

C) IP

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

W () @ and (O

Options :

878270156573. 1

878270156574. 2

878270156575. 3

878270156576. 4

Question Number : 34 Question Id : 87827039857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T TR o1 ST R g0 deree B fafed San wg frefefen § @ @9 @ wive §2
(A) STy

(B) A

Q) Y

4 feu U fosredi | 6 W& S 9 I

(1) 9aa (A) & (B)
(2) FFa (A) 3R (C)
() @A (B) M (C)
@ () @ RQ)

) (
) (
)
4)

Options :
878270156573. 1
878270156574. 2



878270156575. 3

878270156576. 4

Question Number : 35 Question Id : 87827039858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.
List - I List - II
(Question) (Answer)

(A) How many ones are there in the binary representation (I) 13
of the decimal number 512 ?

(B) If1KiloByte = 2* bits, then what is the value of x ? (I) 20

(C) What hexadecimal value is obtained when the two (II) 1
hexadecimal digits A and B are added together ?

(D) What is the denary (base 10) value of the binary (IV) 15
number 00010100 ?

Choose the correct answer from the options given below :

(1) (AL), BHLV), (O-(0), D)-(I)

(2) (AL, (B)-(I), (C-(1V), (D))
(3)  (A)MI), (B}-(IIL), (C}-(II), (D)-(IV)
(4) (AN, B)-(1), (CHIV), (DHI)
Options :

878270156577. 1
878270156578. 2
878270156579. 3

878270156580. 4

Question Number : 35 Question Id : 87827039858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 9 Eit-11 1 fifer i

lt-1 -1

T £ty
(A) TWEE H&A 512 & fg-onyr wlemm W fFa R wEE? () 13
(B) 1 feralarze = 2 faeq &, @ x &1 WF 1 & ? (I 20
(C) @ 3 UISY-SH FeAl A 3R B I WY SEl (I 1

o A e 2 e e e 1 e A
(D) fgamar F&n 00010100 1 g9k A9 A F=EM? (V) 15
A1 fou 7o foeredl § @ W@ SO A 99 Ff

(1) (AR, (B)LV), (CHD), (DHI)
(2 (A, B)-1), (C-(1V), (D)-{10)
() (I), (B)-(I1I), (C)-(LT), (D)-(IV)
( ( ()

(A
(A
4) (A, (B)-(D), (CHIV), (DI

)
A)-
Options :
878270156577. 1
878270156578. 2
878270156579. 3

878270156580. 4

Question Number : 36 Question Id : 87827039859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In air pollution, oxides of nitrogen (NOx) include :

(A) Nitric oxide

(B) Nitrous oxide

(C) Nitrogen dioxide

(D) Di-nitrogen trioxide

(E) Di-nitrogen penta oxide

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(@ (A)and (C) Only
(3) (B), (C) and (D) Only
@) (D)and (E) Only

Options:

878270156581. 1
878270156582. 2
878270156583. 3

878270156584. 4

Question Number : 36 Question Id : 87827039859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST JEUO H, eSS & SfEEEEd (NOx) # wfha €
(A) TEfeF HAlaHrEe

(B) TEZH SRS

(C) EEISH SReAES

(D) SEIEISE TR RS

(E) STE-TiEge el SRS

< feu T fasedi § 9 War SO o 999 FIfT
(1) &aa (A), (B) 3R (C)

(2) FaE (A) 3R (C)
(3) & (B), (O) iR (D)
(4) %9 (D) R (E)
Options :

878270156581. 1
878270156582. 2
878270156583. 3

878270156584. 4

Question Number : 37 Question Id : 87827039860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Increasingly, photovoltaic panels are being used to supplement electrical energy
from the power grid.

Statement I :  The compatibility of photovoltaic panels with power grid is also because it produces
Direct Current (DC).

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect

3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(



Options :

878270156585. 1
878270156586. 2
878270156587. 3
878270156588. 4

Question Number : 37 Question Id : 87827039860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A 3 FA UM E

TR (1) OIS ¥ o 59 6 SR o o ) e T o 9w W 9 2 1 W &

FUR (I1) : T ire o T W v S v gefene o € i T fom em () T
kS

I Fo o e, 3 fou T feeredt # ¥ Wl S T i

1) YR 13 BRI 3 7§

) YR 1 3R R 11 G e §

) W1 T €, T w11 5 ¢

4) HIR 1S €, TR KO ¢

=]

(
(
(
(

Options:

878270156585. 1
878270156586. 2
878270156587. 3

878270156588. 4

Question Number : 38 Question Id : 87827039861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Rising nutrient levels in a lake change the numbers and types of biota present
there.

Statement I ; Eutmphic lakes non:na]l}F have clear water and contain little biomass.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270156589. 1

878270156590. 2

878270156591. 3

878270156592. 4

Question Number : 38 Question Id : 87827039861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

%@Wﬁ,’qw%:

FF (1) forel e o o irwer T @ S Sufeed e # g o YR it i g
O (IT) : T G Sl A e T S afew A H Sa- el (A) 8§
IR o % e §, A fou T fored # F @ wee T At

(1) R 1SR BT T §

(2) TR R LT 9 €
(3) FUTIEA S, WA F I 5 &
(4) YT HE €, ol HOT I T &
Options :

878270156589. 1

878270156590. 2

878270156591. 3



878270156592. 4

Question Number : 39 Question Id : 87827039862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ :  The detrimental impacts of air pnllution are not limited to human health 0111}!.

Statement I :  Fluorine emitted in the air from various industrial processes has signi[icant
phytotoxicological effects.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270156593. 1

878270156594. 2

878270156595. 3

878270156596. 4

Question Number : 39 Question Id : 87827039862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T4 FARUME::

T (1) : 9T TSI 3 GG FIH WA 7 @ Wi T 2 ¢

T (1) : a1 ¥ fofer slvenfives whmaner @ feret e o ey TEY SfaeRTA F4TE 2 €|
SIS oA % ofTei H, e fou T foedt # 4 W S A S

(1) R 1 3R R 113 T

(2) R 1 AR HeR 11 TF o ¢
(3) U 1 H 2, olfe o I A9 &
(4) U1 A €, ¥AfeRT RO T 2
Options:

878270156593. 1

878270156594. 2

878270156595. 3

878270156596. 4

Question Number : 40 Question Id : 87827039863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(Hazard related term) (Description)
(A) Risk (I)  Actions to mitigate losses
(B) Exposure (I)  Frequency of events causing losses
(C) Vulnerability (II) Magnitude of population and structure at risk
(D) Response (IV) Degree of preparedness
Choose the correct answer from the options given below :
(1) (A, ()(lﬂ) (C-LV), (D)
(2) (A, (B)-(1D), (©-LV), (D)}-0)
() (AR, ( )(UD (©-(l), (D)-(IV)
(4)  (AMI), (B}, (©)-{L), (DHLV)
Options:

878270156597. 1



878270156598. 2
878270156599. 3

878270156600. 4

Question Number : 40 Question Id : 87827039863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i1 9 Geft-11 1 e i
eI G-I
(v et ug) (i)
(A) TEw () THEH H FA F F fo Fare
(B) IR () TS T Tl SIS 1 TRaR
(C) ¥ (II) SHfEm Ja Srrel S G= i 9w
(D) 3R (IV) ARt i w
el feu 0 foeredl H § |E I 1 957 HifC ;
(1) (AR, B)-I), [©)-IV), (D)-1)
(2) (A, B)-IT), ©)-{IV), (D)-0)
(3) (AN, B)-(L), ©)-1), (D)-1V)
(4) (A, (B)ID), (©)-I), (D)-(V)
Options :

878270156597. 1
878270156598. 2
878270156599. 3
878270156600. 4

Question Number : 41 Question Id : 87827039864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The policy of privatisation of higher education began with the introduction of :
(1) Fourth five year plan

(2)  Sixth five year plan

(3) Eighth five year plan

(4) Tenth five year plan

Options:

878270156601. 1

878270156602. 2

878270156603. 3

878270156604. 4

Question Number : 41 Question Id : 87827039864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

=a foen % fsfierr &t ifa form s & 9% 89 | ey =i mé 2
(1) =iefi deedtE Fe

(2) BB T A

(3) edl g=Edt A

(4) THE gEEUE A
Options :

878270156601. 1
878270156602. 2
878270156603. 3

878270156604. 4

Question Number : 42 Question Id : 87827039865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Science education in India was first started in Calcutta in 1817 at :
(I) Surendranath college

(2)  Ashutosh Mukherjee college
(3) St Xavier college

(4) Hindu college

Options:

878270156605. 1
878270156606. 2
878270156607. 3

878270156608. 4

Question Number : 42 Question Id : 87827039865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Wﬁﬁaﬂﬁﬁmﬁuwaﬁwl?ﬁw Y g ieret H Y& & off?

(2) ST TG Hc
(3) He SR Hiers

(4) fog #cs

Options :

878270156605. 1
878270156606. 2
878270156607. 3

878270156608. 4

Question Number : 43 Question Id : 87827039866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The idea of a national education system in India could get ﬁllip with the transfer of control of
education in 1921 to :

(1)  The British Viceroy

(2)

(3)  The Christian missionaries
(4)

[ndian ministers of provinces

European elite
Options:

8782701566009. 1
878270156610. 2

878270156611. 3
878270156612. 4

Question Number : 43 Question Id : 87827039866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

9 1921 5 9Ra ¥ T2 e vgfa o formm i ween fuen & fm o sfafa foe om § e ?
(1) fafen amem

(2) I o RAE
(3) 7 T

(4) 709 % e s
Options :

8782701566009. 1
878270156610. 2
878270156611. 3

878270156612. 4

Question Number : 44 Question Id : 87827039867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following universities were established in the same year of 1916 ?
Bombay University

B) Banaras Hindu University

D) SN.DT Women University

E) Punjab University

(
(
(C) Mysore University
(
(

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(

(2) (B), (C) and (D) Only
(3) (Q), (D) and (E) Only
(4) (A), (C) and (E) Only
Options:

878270156613. 1
878270156614. 2
878270156615. 3

878270156616. 4

Question Number : 44 Question Id : 87827039867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafea § 9 fea-fe favafaemeai @1 wemom ad 1916 ® & g8 ot ?
(A) il e

(B) ARH feg favafamma

(C) g Ffrafde

(D) W T & & e P

(E) Ysie faveiamme™

= feu 7o fasredi § 9 WE SO 1 =91 FISU
(1) A (A), (B) &R (C)

(2) = (B), (C) ¥R (D)

(3) e (C), (D) ¥R (E)

(4) FE (A), (C) &R (B)

Options :

878270156613. 1

878270156614. 2

878270156615. 3

878270156616. 4

Question Number : 45 Question Id : 87827039868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  [fbig corporate houses establish universities in India, quality professional training
and education can be given to students.

Statement I1: Itis expecl‘ed that universities and institutes established b}f corporate houses will
be world leaders in education.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(

4) Statement I is incorrect but Statement II is correct



Options :

878270156617. 1
878270156618. 2
878270156619. 3
878270156620. 4

Question Number : 45 Question Id : 87827039868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fﬁﬁﬂ@ﬂfﬂm{%:

T (1) TG TS PRGN T A W ovafared i s Y, 3 Rl 1 o s
yfvrem e fen e % o Her €|

A (1) : 78 0 1 S o6 e SR g1 T fod S et fvafrenera den e e o
fowa # et 27|

TR A o e , Ao fow T et B A Wl S T i

(1) RIS BRI T2

() FRIIMFWI T 959 ¢

(3) U 1T ¢, Wi B 590§

(4) U1 H &, A FAHA &

e ]

Options:

878270156617. 1
878270156618. 2
878270156619. 3
878270156620. 4

Sub-Section Number : 3
Sub-Section Id : 8782701673
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Id : 87827039869 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Animals communicate with one another in many interesting ways. These may consist of signs,
gestures, looks, sounds, smells or even light produced by the body. Song and dance are the other
means of communication.

When faced with danger, animals wam others using signals such as mock charges, grimaces or
sound. They also call their mates, inform other members of the group about the source of food,
advertise territory and ‘teach’ the young the ways of the world. Baby birds call their parents for
help and attention and demand food.

Far from being a silent world, the ocean is a noisy place. Fishes, molluscs, sea lions, walruses,
whales and dolphins chatter away in the waters using a variety of sounds-whistles, squeaks, clicks
and groans which range from low pitch to ultrasonic sounds beyond the range of human hearing,
Whales and dolphins are sometimes called the ‘musicians of the sea’ as birds are of the sky.

Sub questions

Question Number : 46 Question Id : 87827039870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Animals use sounds to :

(A) Advertise teritory

(B) Warn of dangers

(C) Call their mates

(D) Invite their enemies

(E) Inform others about source of food

Choose the correct answer from the options given below :

() (B), (C) and (D) Only

(2) (A), (B) and (C) Only
(3) (A), (B), (C) and (E) Only
(4) (C), (D) and (E) Only

Options :



878270156621. 1
878270156622. 2
878270156623. 3

878270156624. 4

Question Number : 47 Question Id : 87827039871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the various ways in which animals communicate with one another ?
Sr:mg and dance

(

(B) Speech

(C) Signs

(D) Sounds

(E) Words

Choose the correct answer from the options given below :

(1) (C), (D) and (E) Only

() (A), (B) and (E) Only
(3) (A) ( ) ’illd( )Olll}’
(4) (A)and (B) Only
Options :

878270156625. 1
878270156626. 2
878270156627. 3

878270156628. 4

Question Number : 48 Question Id : 87827039872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The musicians of the sky are :
(1) Walruses
(2) Animals

(3) Dolphins
(4) Birds
Options:

878270156629. 1
878270156630. 2
878270156631. 3
878270156632. 4

Question Number : 49 Question Id : 87827039873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Ultrasonic sounds’ are sounds which are :
Liked b}r humans

2

Disliked by humans

=

EZ; Audible to humans
(3)

(4) Inaudible to humans
Options :

878270156633. 1

878270156634. 2
878270156635. 3

878270156636. 4

Question Number : 50 Question Id : 87827039874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Sharks and crocodiles are called the musicians of the sea.
Statement I ; Bab}f birds cannot express their needs.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4)  Statement I is incorrect but Statement II is correct
Options :

878270156637. 1

878270156638. 2

878270156639. 3

878270156640. 4

Question Id : 87827039869 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions



Question Number : 46 Question Id : 87827039870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

u3] %af =1 9T R 389 o fore #d €2

(A) Y- F oI | 2= 991ed o1 SR 24 F foau
(B) W I =l o @ fow

(C) &9 Sfiad Fieft 1 el ok o

(D) 3199 YA HI HAT FA o g

(E) <O &1 95 & € & =i § giad #31 & fau
= fau o fasredi § | WE SOR 1 =9 S
(1) %9 (B), (C) 3R (D)

(2) 9 (A), (B) 3R (Q)

(3) I (A), (B), (C) 3R (E)

(4) 9 (O), (D) 3R (E)

Options :

878270156621. 1

878270156622. 2

878270156623. 3

878270156624. 4

Question Number : 47 Question Id : 87827039871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A GRT T8 © Aa=id e & fafy= ades @ € 2
(A) T SR T

(B) @mf

(C) Hehd

(D) &

(E) =g

4 few U foeredi © | TE IR F =977 FC
(1) %9 (C), (D) ¥R (E)

(2) %9d (A), (B) 3R (E)

(3) #=d (A), (C) ¥R (D)

(4) FAA (A) IR (B)

Options :

878270156625. 1

878270156626. 2

878270156627. 3

878270156628. 4

Question Number : 48 Question Id : 87827039872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I F GIAHEN € ;
(1) H=elH

(2 W

(3) EieEHA

(4) Teff

Options :

878270156629. 1
878270156630. 2

878270156631. 3



878270156632. 4

Question Number : 49 Question Id : 87827039873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
‘mgen s U st € W
(1) W\ gR 99 1 S ¢ |

(2) TSl ERI 4 Bt

(3) WAl gHI AYHE i Sl € |
(4) HIH BRI 3 FA Bl € |
Options :

878270156633. 1
878270156634. 2
878270156635. 3

878270156636. 4

Question Number : 50 Question Id : 87827039874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?ﬁ%ra“iwfaqw%‘

T (I) : Ik 3R TR g & T Fe 9 ¢ |

HA (1) : Tferdi & TS ST el i SATHeHT Tal FL HHRd ¢ |
IYIH A o el |, A fGu M foreredi § § We I 7 HIf
(1) FITIFR HUT S TA T

(2) AT 1S A 11 T 30 ©

(3) Y1 HH T, Al HAT I 36A 2

(4) HITIHHA B, WAl AT A €

Options:



878270156637. 1
878270156638. 2
878270156639. 3

878270156640. 4

Sanskrit
Section Id : 878270927
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782701674
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 51 Question Id : 87827039875 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. S99

2. MhIEHAHE

3. T

4. TEATSRE
Options:
878270156641. 1
878270156642. 2
878270156643. 3

878270156644. 4

Question Number : 51 Question Id : 87827039875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1. STeEv=A

2. "

3.

4. UREASRE
Options :
878270156641. 1
878270156642. 2
878270156643. 3

878270156644. 4

Question Number : 52 Question Id : 87827039876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

YT : WHOTTcE! Bl e 9aed Heereie 2
1. gae
2. TAUL:
3. Yaaed

4. UHAHE
Options :
878270156645. 1
878270156646. 2
878270156647. 3

878270156648. 4

Question Number : 52 Question Id : 87827039876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

JUITE: WIOTaE! Bid e Taed Ha=rie 2
1. gaed
2. TEUL:
3. UEdE

4. UHAE
Options :
878270156645. 1
878270156646. 2
878270156647. 3

878270156648. 4



Question Number : 53 Question Id : 87827039877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
“3JAmE: TR A7 A MUEHE HIsY: ?

7

s PR | -
ol
3. AMCA:
4. ==

[

Options :

878270156649. 1
878270156650. 2
878270156651. 3

878270156652. 4

Question Number : 53 Question Id : 87827039877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
“3JdmE: TR TE A MR HIsY: ?

=

] |
ol
3. Aled:
4. =&

I
'

Options:
878270156649. 1
878270156650. 2

878270156651. 3



878270156652. 4

Question Number : 54 Question Id : 87827039878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

GIeTasT e 990 2

3. IhIH

4. U
Options :
878270156653. 1
878270156654. 2
878270156655. 3

878270156656. 4

Question Number : 54 Question Id : 87827039878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IS &6 9aid ?



Options :

878270156653. 1
878270156654. 2
878270156655. 3
878270156656. 4

Question Number : 55 Question Id : 87827039879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
YANTERT e A ?
1. R

2. WAEEYTE
3. FFAIEAEE

A. FFTEE FAAH

Options:

878270156657. 1
878270156658. 2
878270156659. 3
878270156660. 4

Question Number : 55 Question Id : 87827039879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3. FFGETTE

A. FFTEE FAAH

Options:

878270156657. 1
878270156658. 2
878270156659. 3

878270156660. 4

Question Number : 56 Question Id : 87827039880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
“GUaEl 7 GUAM” S ThR: HEEd A ?

1. Iuard

4. =dgdd
Options :
878270156661. 1
878270156662. 2
878270156663. 3

878270156664. 4



Question Number : 56 Question Id : 87827039880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“GHIT 7 GUA” T TR FHFd A ?

1. Igard

4. <Hgd™
Options :
878270156661. 1
878270156662. 2
878270156663. 3

878270156664. 4

Question Number : 57 Question Id : 87827039881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

3. AT
4. TR

Options :

878270156665. 1



878270156666. 2
878270156667. 3

878270156668. 4

Question Number : 57 Question Id : 87827039881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1. g
2. WS
3. AR
4. TR

Options :

878270156665. 1
878270156666. 2
878270156667. 3
878270156668. 4

Question Number : 58 Question Id : 87827039882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“TT=R 9W” 3 5 oae AR 2

[~
<

Options:

878270156669. 1
878270156670. 2
878270156671. 3

878270156672. 4

Question Number : 58 Question Id : 87827039882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
LI 97 30 T oae ARhaeade ?

1. 9L
2. I
3. T
4. O
Options :
878270156669. 1
878270156670. 2

878270156671. 3

878270156672. 4



Question Number : 59 Question Id : 87827039883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“STRTET AA:” Bl 9 & g i 2

2. devEEsHagdle:
|
3. HAaguEiaRTegdlle:
4. FHERA:
Options :
878270156673. 1
878270156674. 2

878270156675. 3

878270156676. 4

Question Number : 59 Question Id : 87827039883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“STHTE ;" 3 G & GHIE: ik ?

2. g e
3. AAGUHENTIEgAI e
4. FHERA:

Options :

878270156673. 1



878270156674. 2
878270156675. 3

878270156676. 4

Question Number : 60 Question Id : 87827039884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270156677. 1
878270156678. 2
878270156679. 3
878270156680. 4

Question Number : 60 Question Id : 87827039884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3. SAPHIET

4. A
Options:
878270156677. 1
878270156678. 2
878270156679. 3

878270156680. 4

Question Number : 61 Question Id : 87827039885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“TemrerfreE g s 7 fauia” 3ia e e 2

3. T
4. SFﬁIH

Options :

878270156681. 1
878270156682. 2
878270156683. 3
878270156684. 4



Question Number : 61 Question Id : 87827039885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Tematarean 3= i 7 fagfa” sfa & e 2

3. TR
4. A

Options :

878270156681. 1
878270156682. 2
878270156683. 3

878270156684. 4

Question Number : 62 Question Id : 87827039886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
QARG Ud Ueshed:’ 39 Ud’ Uad & URIEr: ?
1. 93 FHEFEE A9 s
2. U= AN e gRY
3. SIS 7 SRERE
4. R A Glo@ERA

Options :

878270156685. 1



878270156686. 2
878270156687. 3

878270156688. 4

Question Number : 62 Question Id : 87827039886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
QIR Ud Werehedl:’ I “Ud” UaA #h R ?
1. O FH A A7 s
U 0] FiERegR

3 ¥

1

Options :

878270156685. 1
878270156686. 2
878270156687. 3
878270156688. 4

Question Number : 63 Question Id : 87827039887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S AR U= T ANTISR 2
1. AT
2. TIHFRE

3. GEhRHGE
4. YT

Options:

878270156689. 1
878270156690. 2
878270156691. 3
878270156692. 4

Question Number : 63 Question Id : 87827039887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
GSAG-ATHH U~ T ANTST ?
1. ATHgHUCH
2. arEHEEE

3. GEhHHEE
"CEREGES

Options :

878270156689. 1
878270156690. 2
878270156691. 3
878270156692. 4



Question Number : 64 Question Id : 87827039888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el EqRIHET: SR |

™

> & 4 4

Options :

878270156693. 1
878270156694. 2
878270156695. 3

878270156696. 4

Question Number : 64 Question Id : 87827039888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

RSN E A IER

1

% & 3 4

4.
Options :

878270156693. 1



878270156694. 2
878270156695. 3
878270156696. 4

Question Number : 65 Question Id : 87827039889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
HHEEd w8 910 dg:, 9 FidiaeE: ?
1. wigH:
2. UHEH:
3. HfaE:
4. TBEe:

Options :

878270156697. 1
878270156698. 2
878270156699. 3

878270156700. 4

Question Number : 65 Question Id : 87827039889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT ATENH 9T 95, 9 Fiaiae: ?
1. Higy:
2. UHMEH:
3. FHEE:
4. BE:

Options:

878270156697. 1
878270156698. 2
878270156699. 3
878270156700. 4

Question Number : 66 Question Id : 87827039890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4. =g

Options :

878270156701. 1
878270156702. 2
878270156703. 3
878270156704. 4



Question Number : 66 Question Id : 87827039890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4. ToTgH

Options :

878270156701. 1
878270156702. 2
878270156703. 3

878270156704. 4

Question Number : 67 Question Id : 87827039891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
1. TEEHE & A
2. e A
3. Wil g AT
4. T9g O

Options :

878270156705. 1



878270156706. 2
878270156707. 3

878270156708. 4

Question Number : 67 Question Id : 87827039891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1. GEEHE AT 3
2. e AR
3. HIE F=1 A
4. 9Ag oA

Options :

878270156705. 1
878270156706. 2
878270156707. 3
878270156708. 4

Question Number : 68 Question Id : 87827039892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. a?r-:@qg
2. ALHIERHE:
B ﬁﬁrﬂ‘&’
4. TSI

Options:

878270156709. 1
878270156710. 2
878270156711.3

878270156712. 4

Question Number : 68 Question Id : 87827039892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AT T A -
1. Eh‘l“‘«s“*ﬁ
2. WEHERHE:
3. ﬁ’ﬁﬁmﬁ
4. TESIE:

Options :

878270156709. 1
878270156710. 2
878270156711. 3
878270156712. 4



Question Number : 69 Question Id : 87827039893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3. dHlelt
A, SHIAANT:

Options :

878270156713. 1
878270156714. 2
878270156715. 3

878270156716. 4

Question Number : 69 Question Id : 87827039893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

3. HHlelL
A. ZAGEN:

Options :

878270156713. 1



878270156714. 2
878270156715. 3
878270156716. 4

Question Number : 70 Question Id : 87827039894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ARSI AR TS [E= 21T —
1. daiaEn

2. FedidEn
3. HAEH
4. SATEFCOTERT

Options :

878270156717. 1
878270156718. 2
878270156719. 3
878270156720. 4

Question Number : 70 Question Id : 87827039894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4. SEATFRITEE
Options:
878270156717. 1
878270156718. 2
878270156719. 3
878270156720. 4

Question Number : 71 Question Id : 87827039895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ORI HTITN 2Rl WeT: 91 2

3.

4. W2

Options :

878270156721. 1
878270156722. 2
878270156723. 3
878270156724. 4



Question Number : 71 Question Id : 87827039895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ARTTHEHTAN 2hid HeT: 91 2

3. U=

4.

Options :

878270156721. 1
878270156722. 2
878270156723. 3

878270156724. 4

Question Number : 72 Question Id : 87827039896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
ST TR ST
1. =ehlld:
2 ‘Eﬂﬁﬁﬁ
3. BHASHIC
4. TR

Options :

878270156725. 1



878270156726. 2
878270156727. 3

878270156728. 4

Question Number : 72 Question Id : 87827039896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SR AT 3 —
1. =Sehiid:

3. BHESHIC

4. TMIRA:

Options :

878270156725. 1
878270156726. 2
878270156727. 3
878270156728. 4

Question Number : 73 Question Id : 87827039897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3. HedEt

4. ANEH=A:
Options:
878270156729. 1
878270156730. 2

878270156731. 3

878270156732. 4

Question Number : 73 Question Id : 87827039897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT ST SIS A0 T —

3. Usd=4q.

4. AEH=A:
Options :
878270156729. 1
878270156730. 2

878270156731. 3
878270156732. 4



Question Number : 74 Question Id : 87827039898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I RIETER aUAR =R g —

4. &fl
Options :
878270156733. 1
878270156734. 2
878270156735. 3

878270156736. 4

Question Number : 74 Question Id : 87827039898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

IO RIETER AU =R g —

3. TEEE

4. o
Options :

878270156733. 1



878270156734. 2
878270156735. 3

878270156736. 4

Question Number : 75 Question Id : 87827039899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
“ThieTg: ATRTEH:” ZIH FicTgTae a&aral ward —

1. Eﬁi?_flﬁﬂﬂ
2. ﬁﬁmﬂﬂ?ﬁ qey:
3. FREEEREEEE
4. g T

Options :

878270156737. 1

878270156738. 2

878270156739. 3

878270156740. 4

Question Number : 75 Question Id : 87827039899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“Thfelg: ATGMNT:” T Hiclgvrad 2Tl ward —
i Eh‘iclrlﬁ_rﬁT
2. TR o
3. aiIgHASRI-EE

4. THieTgesre T

Options:

878270156737. 1
878270156738. 2
878270156739. 3

878270156740. 4

Question Number : 76 Question Id : 87827039900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A RO §@ ST TIRifer: || S FISagi: ?
1. =hifh:
2. GHMEIRH:
3. AL

4. e¥ld:
Options :
878270156741. 1
878270156742. 2

878270156743. 3



878270156744. 4

Question Number : 76 Question Id : 87827039900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TS RIS IR AT A |
A IR G Ui TR || 5 FISAgR: 2

Options :

878270156741. 1
878270156742. 2
878270156743. 3

878270156744. 4

Question Number : 77 Question Id : 87827039901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT=Teh: ¥5%: AT AT A e S Al ?

3. SFATE
4. ArEET

Options :

878270156745. 1
878270156746. 2
878270156747.3
878270156748. 4

Question Number : 77 Question Id : 87827039901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A= ¥5G: Al gl SAeAdind ErH SATTHAI 2
1. ATH=E
2. <& e
3. SHSHIEI
4. AT

Options:

878270156745. 1
878270156746. 2
878270156747. 3

878270156748. 4



Question Number : 78 Question Id : 87827039902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SYEUHTEN “Fe2d: YEhaudl ar=amR:” waid —

2. REREN:
3. HrEdgn:
4. WRAEM:

Options :

878270156749. 1
878270156750. 2
878270156751. 3
878270156752. 4

Question Number : 78 Question Id : 87827039902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

CRTEUH TR “Ter4d: GEhdurEl dream:” waid —

2. FRTRER:
3. HrEdEn:
4. WARAMG:

Options :

878270156749. 1



878270156750. 2
878270156751. 3

878270156752. 4

Question Number : 79 Question Id : 87827039903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
FRTERAIN 2

2. HAMFEHAM

o

3. EAMERIEAA
4. HAETEA™

Options :

878270156753. 1
878270156754. 2
878270156755. 3
878270156756. 4

Question Number : 79 Question Id : 87827039903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR 7

1. TN

2. HHHFEAM

-

3. ARERIEAH
4. FAETEA™

Options:

878270156753. 1
878270156754. 2
878270156755. 3

878270156756. 4

Question Number : 80 Question Id : 87827039904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3. HUSUg<:

4. EHTe:
Options :
878270156757. 1
878270156758. 2
878270156759. 3

878270156760. 4



Question Number : 80 Question Id : 87827039904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4. EETG:
Options :
878270156757. 1
878270156758. 2
878270156759. 3

878270156760. 4

Question Number : 81 Question Id : 87827039905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T HAT FAlE AT |
Th FeAdlia gad Uieligd o || 32 16 2= [ ?

1. H-<Iehll

2. a=dldetaT

3. wéatR
4. E

Options :

878270156761. 1

878270156762. 2

878270156763. 3

878270156764. 4

Question Number : 81 Question Id : 87827039905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T HAT FAlE AT |
Th FeAdlia gad Uieligd o || 32 16 2= [ ?

1. H=THl

2. FEdeIeT

3. WEAiRhlisT
4. E
Options :
878270156761. 1
878270156762. 2

878270156763. 3

878270156764. 4

Question Number : 82 Question Id : 87827039906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“ETSAT G RISATHCEATCTEAr” Si e Fid: Jhdied 2

3. wIEeS

4. AR
Options :

878270156765. 1



878270156766. 2
878270156767. 3

878270156768. 4

Question Number : 82 Question Id : 87827039906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
“TTT GE: TRITSEIRIGEIATCTEdr” Sl e & TR ?

‘]. oHch:

3. FllAara

4. IRA:
Options :
878270156765. 1
878270156766. 2
878270156767. 3
878270156768. 4

Question Number : 83 Question Id : 87827039907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

878270156769. 1
878270156770. 2
878270156771.3
878270156772. 4

Question Number : 83 Question Id : 87827039907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HAA TR S i A HRA ?
1. STEOES:
2. HEEEE:

|
3. 9949g:

4. 4l
Options :
878270156769. 1
878270156770. 2
878270156771. 3

878270156772. 4



Question Number : 84 Question Id : 87827039908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3. faeifaamitT
4. THEIETI

Options :

878270156773. 1
878270156774. 2
878270156775. 3

878270156776. 4

Question Number : 84 Question Id : 87827039908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

4. TFCEEUI

Options :

878270156773. 1



878270156774. 2
878270156775. 3

878270156776. 4

Question Number : 85 Question Id : 87827039909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1. IEREES

2. HAL

3. T

4. %PZIF[
Options :

878270156777. 1
878270156778. 2
878270156779. 3
878270156780. 4

Question Number : 85 Question Id : 87827039909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. IEEEEE

2. HAnL
3. U=
4. IeEd:

Options:

878270156777. 1
878270156778. 2
878270156779. 3
878270156780. 4

Question Number : 86 Question Id : 87827039910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HHA T i HHSTHAGATA Gi ?

1. 4=

2. 3Pl
3. o9l

4. =le=l
Options :
878270156781. 1
878270156782. 2
878270156783. 3
878270156784. 4



Question Number : 86 Question Id : 87827039910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT TRl: i FRHSTEAEAT 9i= ?

3. o

4. =le=l
Options :
878270156781. 1
878270156782. 2
878270156783. 3

878270156784. 4

Question Number : 87 Question Id : 87827039911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

AT HAEUH &: Ted ?

3. et

4. 9
Options :

878270156785. 1



878270156786. 2
878270156787. 3

878270156788. 4

Question Number : 87 Question Id : 87827039911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT HAEUY & Td 2

4. —ME
Options :
878270156785. 1
878270156786. 2
878270156787. 3
878270156788. 4

Question Number : 88 Question Id : 87827039912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

878270156789. 1
878270156790. 2
878270156791. 3
878270156792. 4

Question Number : 88 Question Id : 87827039912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1. g4

2. =9

3. G

4. U0
Options :
878270156789. 1
878270156790. 2
878270156791. 3
878270156792. 4



Question Number : 89 Question Id : 87827039913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1. 91 AW A =

™

3. Al

4. HRO91H

3!
Options :

878270156793. 1
878270156794. 2
878270156795. 3

878270156796. 4

Question Number : 89 Question Id : 87827039913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
1. 9T AT ATRET =
2. gHIgH
3. AAEAT
4. GG

Options :

878270156793. 1



878270156794. 2
878270156795. 3

878270156796. 4

Question Number : 90 Question Id : 87827039914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

THITT 191 ATRNT: AT A Ml el QAT 9= ?

A. =ATATFTEETH

Options :

878270156797. 1
878270156798. 2
878270156799. 3

878270156800. 4

Question Number : 90 Question Id : 87827039914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



THITT AT ATl eTd: TR0 ST Mer: el T &g ?

4. FATATRITIAT
Options:
878270156797. 1
878270156798. 2

878270156799. 3
878270156800. 4

Question Number : 91 Question Id : 87827039915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
HETETY HHATE SITRT0T & -
A. dfEsRH
B. SadrEAEERIH
C. TN
D. gieami-ugemm

1. A, D #Faem
2. A, C %aeM
3. B, D @&

4. B, C @aem



Options :

878270156801. 1
878270156802. 2
878270156803. 3
878270156804. 4

Question Number : 91 Question Id : 87827039915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SERETAY WA A0 & -
A. dfdEsmEmT
B. SadrEARERIH
C. TR
D. HiedHugReH
1. A, D #FaeH
2. A, C Fae™

3. B, D &ae™

4. B, C &aeHq

Options:

878270156801. 1
878270156802. 2
878270156803. 3

878270156804. 4

Question Number : 92 Question Id : 87827039916 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
EWWI { q\éq 1 ccm—W _' -t ﬂmﬁ e

A. HTCTRL:

B. wWgaiRm:
C. =@t

D. #ggeA:
1. A, B @#EeH
2. B, C #aem
3. C, D #&eH

4. A, D FaeM

Options :

878270156805. 1
878270156806. 2
878270156807. 3

878270156808. 4

Question Number : 92 Question Id : 87827039916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. TR

B. EIEWR?’TEJ
C. Mia=aaHt

D. HygeEA:
1. A, B waem
2. B, C waem
3. C, D %a=q

4. A, D Faem

Options:

878270156805. 1
878270156806. 2
878270156807. 3

878270156808. 4

Question Number : 93 Question Id : 87827039917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AFETATERAT FEhaRl = -

A. FIE:
B. gERMET:
C. causigsal
D. og=E:

1. A, C #&=™
2. B, A &=
3. C, D %a=q

4. B, D wae™

Options:

878270156809. 1
878270156810. 2
878270156811. 3
878270156812. 4

Question Number : 93 Question Id : 87827039917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AFETATERAT FEhaRl = -

A. FIE:
B. gERMET:
C. causigsal
D. og=E:

1. A, C #&=™
2. B, A &=
3. C, D %a=q

4. B, D wae™

Options:

878270156809. 1
878270156810. 2
878270156811. 3
878270156812. 4

Question Number : 94 Question Id : 87827039918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T &l YRl & -

A. FRTAFH
B. eMAFH
C. AFTEAFH
D. ST

1. A, B waem
2. A, C %dae™
3. B, C Fa=m

4. B, D wae™

Options:

878270156813. 1
878270156814. 2
878270156815. 3
878270156816. 4

Question Number : 94 Question Id : 87827039918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T &l YRl & -

A. FRTAFH
B. eMAFH
C. AFTEAFH
D. ST

1. A, B waem
2. A, C %dae™
3. B, C Fa=m

4. B, D wae™

Options:

878270156813. 1
878270156814. 2
878270156815. 3
878270156816. 4

Question Number : 95 Question Id : 87827039919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR ST 3l AT & -
A. IAER:

B. A=
O ij:i:éTtr
D. ?\Jl:iﬂ'la;lliﬂﬂ_

1. A, C #&=™
2. B, C waem
3. B, D &ae™
4. A, D &aem

Options:

878270156817. 1
878270156818. 2
878270156819. 3

878270156820. 4

Question Number : 95 Question Id : 87827039919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR ST 3l AT & -
A. IAER:

B. A=
O ij:i:éTtr
D. ?\Jl:iﬂ'la;lliﬂﬂ_

1. A, C #&=™
2. B, C waem
3. B, D &ae™
4. A, D &aem

Options:

878270156817. 1
878270156818. 2
878270156819. 3

878270156820. 4

Question Number : 96 Question Id : 87827039920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR, 9= IR = -

A. F=REfats: 2 TREUR:

B. fafaraas: - U

C. Mig=E" - ATHATER:

D. U= g TFREEE:
1. B, D #Fa=™

2. A, C Fae™
3. B, C &aem

4. C,D #a=Hq

Options:

878270156821. 1
878270156822. 2
878270156823. 3

878270156824. 4

Question Number : 96 Question Id : 87827039920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR, 9= IR = -

A. F=REfats: 2 TREUR:

B. fafaraas: - U

C. Mig=E" - ATHATER:

D. U= g TFREEE:
1. B, D #Fa=™

2. A, C Fae™
3. B, C &aem

4. C,D #a=Hq

Options:

878270156821. 1
878270156822. 2
878270156823. 3

878270156824. 4

Question Number : 97 Question Id : 87827039921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. A, C #&=™
2. A, B @deH
3. A, D &aeH

4. B, D wae™

Options:

878270156825. 1
878270156826. 2
878270156827. 3
878270156828. 4

Question Number : 97 Question Id : 87827039921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. A, C #&=™
2. A, B @deH
3. A, D &aeH

4. B, D wae™

Options:

878270156825. 1
878270156826. 2
878270156827. 3
878270156828. 4

Question Number : 98 Question Id : 87827039922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WE" kl:ailﬁlul[L Dl!E”}\!EIJiQEHQWAFEﬁ Al
A. THIVE: YRS AR

B. "RHI: SEd: SURHH
C. TEAT “GREvSer’ 2 AR
D. ST s GAmsiy urRia A TG d: YR

1. A, D @ae™
2. B, C waem
3. B, D &ae™

4. A, C Faeq

Options:

878270156829. 1
878270156830. 2
878270156831. 3

878270156832. 4

Question Number : 98 Question Id : 87827039922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WE" kl:ailﬁlul[L Dl!E”}\!EIJiQEHQWAFEﬁ Al
A. THIVE: YRS AR

B. "RHI: SEd: SURHH
C. TEAT “GREvSer’ 2 AR
D. ST s GAmsiy urRia A TG d: YR

1. A, D @ae™
2. B, C waem
3. B, D &ae™

4. A, C Faeq

Options:

878270156829. 1
878270156830. 2
878270156831. 3

878270156832. 4

Question Number : 99 Question Id : 87827039923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y GRS & -

A. go=AT: - TR
B. =G - ARSI
C. e=rTEAT: ;. Feddar

D. AT 2 ERILSEFS
1. A, C #&=™
2. B, D @&
3. B, C %aem

4. A, B waeq

Options:

878270156833. 1
878270156834. 2
878270156835. 3
878270156836. 4

Question Number : 99 Question Id : 87827039923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y GRS & -

A. go=AT: - TR
B. =G - ARSI
C. e=rTEAT: ;. Feddar

D. AT 2 ERILSEFS
1. A, C #&=™
2. B, D @&
3. B, C %aem

4. A, B waeq

Options:

878270156833. 1
878270156834. 2
878270156835. 3
878270156836. 4

Question Number : 100 Question Id : 87827039924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SRR woRe R e -

A. SHEH SiE: esiEetd § a
B. Sif@: AaATETEE: Ssiias aTeed:
C. TRRE=EEvE=T: Yaal:
D. U EEe T

1. A, C #&=™

2. A, D @™

3. B, C &aem

4. B, D wae™

Options:

878270156837. 1
878270156838. 2
878270156839. 3
878270156840. 4

Question Number : 100 Question Id : 87827039924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SRR woRe R e -

A. SHEH SiE: esiEetd § a
B. Sif@: AaATETEE: Ssiias aTeed:
C. TRRE=EEvE=T: Yaal:
D. U EEe T

1. A, C #&=™

2. A, D @™

3. B, C &aem

4. B, D wae™

Options:

878270156837. 1
878270156838. 2
878270156839. 3
878270156840. 4

Question Number : 101 Question Id : 87827039925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST “FLSUGT Hiel” Zd PRATERN &: -

A. =ir:
B. #=d
C. z=1E
D. =herd

1. C, D #a«iq
2. A, B @deH
3. B, C Fa=m

4. A, D Faem

Options:

878270156841. 1
878270156842. 2
878270156843. 3
878270156844. 4

Question Number : 101 Question Id : 87827039925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST “FLSUGT Hiel” Zd PRATERN &: -

A. =ir:
B. #=d
C. z=1E
D. =herd

1. C, D #a«iq
2. A, B @deH
3. B, C Fa=m

4. A, D Faem

Options:

878270156841. 1
878270156842. 2
878270156843. 3
878270156844. 4

Question Number : 102 Question Id : 87827039926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



- < ul -Q-Iq_ l" “ :" WH: '

A. A
B. g

C. gedl
D. gt
1. B, C &a=™
2. A, B @deH
3. B, D &aem
4. C,D #a=Hq
Options :

878270156845. 1
878270156846. 2
878270156847. 3

878270156848. 4

Question Number : 102 Question Id : 87827039926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



- < ul -Q-Iq_ l" “ :" WH: '

A. A
B. g

C. gedl
D. gt
1. B, C &a=™
2. A, B @deH
3. B, D &aem
4. C,D #a=Hq
Options :

878270156845. 1
878270156846. 2
878270156847. 3

878270156848. 4

Question Number : 103 Question Id : 87827039927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STl R T A2 A= e Hai ?

A. EFE™
B. =
C. =iaeEe
D. e

1. A, D @ae™
2. B, C waem
3. B, D &ae™

4. A, C Faeq

Options:

878270156849. 1
878270156850. 2
878270156851. 3

878270156852. 4

Question Number : 103 Question Id : 87827039927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STl R T A2 A= e Hai ?

A. EFE™
B. =
C. =iaeEe
D. e

1. A, D @ae™
2. B, C waem
3. B, D &ae™

4. A, C Faeq

Options:

878270156849. 1
878270156850. 2
878270156851. 3

878270156852. 4

Question Number : 104 Question Id : 87827039928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HTETTATY fTTefaarmiasd 9 & -

A. Tl
B. STel- AT
C. E-91r

D. Jehi-wre
1. B, C &a=™
2. A, C %dae™
3. B, D &ae™

4. A, B waeq

Options:

878270156853. 1
878270156854. 2
878270156855. 3

878270156856. 4

Question Number : 104 Question Id : 87827039928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HTETTATY fTTefaarmiasd 9 & -

A. Tl
B. STel- AT
C. E-91r

D. Jehi-wre
1. B, C &a=™
2. A, C %dae™
3. B, D &ae™

4. A, B waeq

Options:

878270156853. 1
878270156854. 2
878270156855. 3

878270156856. 4

Question Number : 105 Question Id : 87827039929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR ERUTTEI FATT: =g | qY = & -

A. gErEIHgR:
B. 4o

C. wFeaq

D. ArTIEH

1. A, D @ae™
2. A, B @deH
3. B, C Fa=m

4. C,D #a=Hq

Options:

878270156857. 1
878270156858. 2
878270156859. 3
878270156860. 4

Question Number : 105 Question Id : 87827039929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR ERUTTEI FATT: =g | qY = & -

A. gErEIHgR:
B. 4o

C. wFeaq

D. ArTIEH

1. A, D @ae™
2. A, B @deH
3. B, C Fa=m

4. C,D #a=Hq

Options:

878270156857. 1
878270156858. 2
878270156859. 3
878270156860. 4

Question Number : 106 Question Id : 87827039930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT ST FRfeiEay 3 Hreaeen @usan -
A. a5

B. a9

G HHet
D. &usT:

1. C, D #a«iq
2. A, B @deH
3. A, C e

4. B, D wae™

Options:

878270156861. 1
878270156862. 2
878270156863. 3
878270156864. 4

Question Number : 106 Question Id : 87827039930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT ST FRfeiEay 3 Hreaeen @usan -
A. a5

B. a9

G HHet
D. &usT:

1. C, D #a«iq
2. A, B @deH
3. A, C e

4. B, D wae™

Options:

878270156861. 1
878270156862. 2
878270156863. 3
878270156864. 4

Question Number : 107 Question Id : 87827039931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. SAWRIIE

B. A=y
C. AiRETaeayq
D. ArEeREETH

1. C, D #a«iq
2. B, D @&
3. A, C &de

4. A, B waeq

Options:

878270156865. 1
878270156866. 2
878270156867. 3

878270156868. 4

Question Number : 107 Question Id : 87827039931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. SAWRIIE

B. A=y
C. AiRETaeayq
D. ArEeREETH

1. C, D #a«iq
2. B, D @&
3. A, C &de

4. A, B waeq

Options:

878270156865. 1
878270156866. 2
878270156867. 3

878270156868. 4

Question Number : 108 Question Id : 87827039932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ETY TFTR TR &: -

A. ISEAgHgEA:
B. U%.GHEIEA:
C. e hiEHgEA:
| B I & s e L

1. B, D #ae™
2. A, C %dae™
3. C, D %a=q

4. A, B waeq

Options:

878270156869. 1
878270156870. 2
878270156871. 3

878270156872. 4

Question Number : 108 Question Id : 87827039932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ETY TFTR TR &: -

A. ISEAgHgEA:
B. U%.GHEIEA:
C. e hiEHgEA:
| B I & s e L

1. B, D #ae™
2. A, C %dae™
3. C, D %a=q

4. A, B waeq

Options:

878270156869. 1
878270156870. 2
878270156871. 3

878270156872. 4

Question Number : 109 Question Id : 87827039933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR AT A= &: -

A. M
B. wWHAH
C. T
D. sgEdar:

1. A, C #&=™
2. A, B @deH
3. A, D &aeH

4. B, D wae™

Options:

878270156873. 1
878270156874. 2
878270156875. 3
878270156876. 4

Question Number : 109 Question Id : 87827039933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR AT A= &: -

A. M
B. wWHAH
C. T
D. sgEdar:

1. A, C #&=™
2. A, B @deH
3. A, D &aeH

4. B, D wae™

Options:

878270156873. 1
878270156874. 2
878270156875. 3
878270156876. 4

Question Number : 110 Question Id : 87827039934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. ==9H:
B. Fehm:
C. g9qa:

D. s

1. B, D #ae™
2. A, B @deH
3. B, C Fa=m

4. C,D #a=Hq

Options:

878270156877. 1
878270156878. 2
878270156879. 3
878270156880. 4

Question Number : 110 Question Id : 87827039934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. ==9H:
B. Fehm:
C. g9qa:

D. s

1. B, D #ae™
2. A, B @deH
3. B, C Fa=m

4. C,D #a=Hq

Options:

878270156877. 1
878270156878. 2
878270156879. 3
878270156880. 4

Question Number : 111 Question Id : 87827039935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HAHLITATHETYRIIE ek &: -

A. TETEAT
B. wrarefaiiient
C. asrg=t
D. Mg=uem:
1. B, D #aem

2. A, C Fae™
3. B, C &g

4. A, D Faem

Options:

878270156881. 1
878270156882. 2
878270156883. 3

878270156884. 4

Question Number : 111 Question Id : 87827039935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HAHLITATHETYRIIE ek &: -

A. TETEAT
B. wrarefaiiient
C. asrg=t
D. Mg=uem:
1. B, D #aem

2. A, C Fae™
3. B, C &g

4. A, D Faem

Options:

878270156881. 1
878270156882. 2
878270156883. 3

878270156884. 4

Question Number : 112 Question Id : 87827039936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. TEaEE
B. ulqHHEFH
C. H=9=TET:
D. ATHRIH

1. A, C #&=™
2. B, C waem
3. C, D %a=q

4. A, D Faem

Options:

878270156885. 1
878270156886. 2
878270156887. 3

878270156888. 4

Question Number : 112 Question Id : 87827039936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. TEaEE
B. ulqHHEFH
C. H=9=TET:
D. ATHRIH

1. A, C #&=™
2. B, C waem
3. C, D %a=q

4. A, D Faem

Options:

878270156885. 1
878270156886. 2
878270156887. 3

878270156888. 4

Question Number : 113 Question Id : 87827039937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. Feg:
B. weEl
C. Jarree:
D. AU

1. A, D @ae™
2. B, C waem
3. A, C e

4. B, D wae™

Options:

878270156889. 1
878270156890. 2
878270156891. 3
878270156892. 4

Question Number : 113 Question Id : 87827039937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. Feg:
B. weEl
C. Jarree:
D. AU

1. A, D @ae™
2. B, C waem
3. A, C e

4. B, D wae™

Options:

878270156889. 1
878270156890. 2
878270156891. 3
878270156892. 4

Question Number : 114 Question Id : 87827039938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. =1
B. 3R
C. @A
D. =i¥s:

1. B, C &a=™
2. C,D Fae
3. A, D Feae™

4. B, D wae™

Options:

878270156893. 1
878270156894. 2
878270156895. 3
878270156896. 4

Question Number : 114 Question Id : 87827039938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. =1
B. 3R
C. @A
D. =i¥s:

1. B, C &a=™
2. C,D Fae
3. A, D Feae™

4. B, D wae™

Options:

878270156893. 1
878270156894. 2
878270156895. 3
878270156896. 4

Question Number : 115 Question Id : 87827039939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AECHIHA FHRERI Saag RATT JU0T & FErR6e: ?

A. G
B. g«
C. UsJ=n:
D. 9agHEgIRIo:
1. A, C #&=™

2. B, D wae™
3. A, D &Faem

4. C,D #a=Hq

Options:

878270156897. 1
878270156898. 2
878270156899. 3

878270156900. 4

Question Number : 115 Question Id : 87827039939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AECHIHA FHRERI Saag RATT JU0T & FErR6e: ?

A. G
B. g«
C. UsJ=n:
D. 9agHEgIRIo:
1. A, C #&=™

2. B, D wae™
3. A, D &Faem

4. C,D #a=Hq

Options:

878270156897. 1
878270156898. 2
878270156899. 3

878270156900. 4

Question Number : 116 Question Id : 87827039940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 -1

(A)  HR=EUIE (I) STt

(B) TR (IT) fre
(C)  Fammomer e
(D) T B (IV) B

1. (A)-(ID), (B)-(I), (C)~(III), (D)-(IV)
2. (A)-(IV), (B)-(II), (O)-(D), (D)-(III)
3. (A)(ITI), (B)-(IV), (C)~(IT), (D)~(I)

4. (A)-(I), (B)-(II), (C)(III), (D)-(IV)
Options:
878270156901. 1
878270156902. 2
878270156903. 3

878270156904. 4

Question Number : 116 Question Id : 87827039940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 -1

(A)  HR=EUIE (I) STt

(B) TR (IT) fre
(C)  Fammomer e
(D) T B (IV) B

1. (A)-(ID), (B)-(I), (C)~(III), (D)-(IV)
2. (A)-(IV), (B)-(II), (O)-(D), (D)-(III)
3. (A)(ITI), (B)-(IV), (C)~(IT), (D)~(I)

4. (A)-(I), (B)-(II), (C)(III), (D)-(IV)
Options:
878270156901. 1
878270156902. 2
878270156903. 3

878270156904. 4

Question Number : 117 Question Id : 87827039941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



- -1
(A)  w (T) e 71 AudeAr
(B) uReEm (IT) e &t e
(C) =1 (I1I) g=e e Jamad
(D)  mEi: (IV) === 1 driior war=m

. (A)-(D), B)(I1), (C)III), (D)-(IV)
2. (A)-(IV), (B)1). (C)-(II), (D)(III)
3. (A)-(IID), B)-(ID), (C)-(D), (D)-(IV)
4. (M-I, (B)-T), (O)~(I), (D)(IV)

Options:

878270156905. 1
878270156906. 2
878270156907. 3
878270156908. 4

Question Number : 117 Question Id : 87827039941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



- -1
(A)  w (T) e 71 AudeAr
(B) uReEm (IT) e &t e
(C) =1 (I1I) g=e e Jamad
(D)  mEi: (IV) === 1 driior war=m

. (A)-(D), B)(I1), (C)III), (D)-(IV)
2. (A)-(IV), (B)1). (C)-(II), (D)(III)
3. (A)-(IID), B)-(ID), (C)-(D), (D)-(IV)
4. (M-I, (B)-T), (O)~(I), (D)(IV)

Options:

878270156905. 1
878270156906. 2
878270156907. 3
878270156908. 4

Question Number : 118 Question Id : 87827039942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T Hel gt —
g=-1 -1

(A)  TFERES QU REa=AET (1) =EaTiEs:
(B) ¥l T ATeguETd (I1) Fes:

(C)  wsar e AmEvTed (1) =rerniig:
(D) ¥l B Fasad (IV) Hafue:

1. (A)- (IV), (B)~(III), (C)-(II), (D)-(I)
2. (A)-(ITI), (B)-(IV), (C)~(D), (D)~(TI)
3. (A)(IV), (B)-(IIT), (C)~(D), (D)-(II)

4. (A)-(II), (B)-(I), (C)-(IV), (D)-(II)
Options:
8782701569009. 1
878270156910. 2
878270156911. 3

878270156912. 4

Question Number : 118 Question Id : 87827039942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T Hel gt —
g=-1 -1

(A)  TFERES QU REa=AET (1) =EaTiEs:
(B) ¥l T ATeguETd (I1) Fes:

(C)  wsar e AmEvTed (1) =rerniig:
(D) ¥l B Fasad (IV) Hafue:

1. (A)- (IV), (B)~(III), (C)-(II), (D)-(I)
2. (A)-(ITI), (B)-(IV), (C)~(D), (D)~(TI)
3. (A)(IV), (B)-(IIT), (C)~(D), (D)-(II)

4. (A)-(II), (B)-(I), (C)-(IV), (D)-(II)
Options:
8782701569009. 1
878270156910. 2
878270156911. 3

878270156912. 4

Question Number : 119 Question Id : 87827039943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T Hel gt —
g=i-1 -1

(A) TR ISEA (1) 9rg: 3UT=rd
(B) AT wiswma (11) TfoT: SUTera
(C) awi: ised (I11) arT 399
(D) St TS (IV) Ure 3uv=d

1. (A)-(IT), (B)-(IID), (C)-(I), (D)-(IV)
2. (A)-(III), (B)-(II), (C)-(IV), (D)~(I)
3. (A)(ITI), (B)-(IV), (C)~(IT), (D)~(I)

4. (A)-(ID), (B)-(I), (C)-(1V), (D)-(1II)
Options:
878270156913. 1
878270156914. 2
878270156915. 3

878270156916. 4

Question Number : 119 Question Id : 87827039943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T Hel gt —
g=i-1 -1

(A) TR ISEA (1) 9rg: 3UT=rd
(B) AT wiswma (11) TfoT: SUTera
(C) awi: ised (I11) arT 399
(D) St TS (IV) Ure 3uv=d

1. (A)-(IT), (B)-(IID), (C)-(I), (D)-(IV)
2. (A)-(III), (B)-(II), (C)-(IV), (D)~(I)
3. (A)(ITI), (B)-(IV), (C)~(IT), (D)~(I)

4. (A)-(ID), (B)-(I), (C)-(1V), (D)-(1II)
Options:
878270156913. 1
878270156914. 2
878270156915. 3

878270156916. 4

Question Number : 120 Question Id : 87827039944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT AAETIE T G Hel Fed —
g=i-1 -1

(A) = (I) =Tg<Thm:

(B) =r=Eq (I1) et

(C) 3med B IEEEEE
(D) =med (IV) =i

1. (A)-(IT), (B)-(IID), (C)-(1), (D)-(IV)
2. (A)-(IV), (B)-(II), (C)-(I1I), (D)~(I)
3. (A)-(D), (B)<(II), (C)-(IV), (D)-(TI)

4. (A)-(II), (B)-(1V), (C)-(I), (D)-(1I)
Options:
878270156917. 1
878270156918. 2
878270156919. 3

878270156920. 4

Question Number : 120 Question Id : 87827039944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT AAETIE T G Hel Fed —
g=i-1 -1

(A) = (I) =Tg<Thm:

(B) =r=Eq (I1) et

(C) 3med B IEEEEE
(D) =med (IV) =i

1. (A)-(IT), (B)-(IID), (C)-(1), (D)-(IV)
2. (A)-(IV), (B)-(II), (C)-(I1I), (D)~(I)
3. (A)-(D), (B)<(II), (C)-(IV), (D)-(TI)

4. (A)-(II), (B)-(1V), (C)-(I), (D)-(1I)
Options:
878270156917. 1
878270156918. 2
878270156919. 3

878270156920. 4

Question Number : 121 Question Id : 87827039945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 11

(A) 3Ygd W (1) FTETHRA
(B) e (I1) SeHasTH T
(C) Tur= (111) T F=R=d
(D) TR (IV) s el

1. (A)(I), (B)-(IV), (C)(T), (D)-(IM)
2. (A)-(D, (B)~(III), (C)-(IV), (D)-(II)
3. (A)-(IV), (B)<(I), (C)-(IT), (D)-(D)

4. (A)-(II), (B)-(1I), (C)-(1V), (D)-(I)
Options :
878270156921. 1
878270156922. 2
878270156923. 3
878270156924. 4

Question Number : 121 Question Id : 87827039945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 11

(A) 3Ygd W (1) FTETHRA
(B) e (I1) SeHasTH T
(C) Tur= (111) T F=R=d
(D) TR (IV) s el

1. (A)(I), (B)-(IV), (C)(T), (D)-(IM)
2. (A)-(D, (B)~(III), (C)-(IV), (D)-(II)
3. (A)-(IV), (B)<(I), (C)-(IT), (D)-(D)

4. (A)-(II), (B)-(1I), (C)-(1V), (D)-(I)
Options :
878270156921. 1
878270156922. 2
878270156923. 3
878270156924. 4

Question Number : 122 Question Id : 87827039946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 G-I

(A) FEHAREEY " (I) =rF=ae:
(B)  HIgATSUEERAEE T IR (IT) ==
(C) =T AT T: (1) wee:
(D)  *IgR U9 72 W UETedl O (IV) waqi:

1. (A)-(D), (B)~(II), (C)~(III), (D)-(IV)
2. (A)-(ID), (B)-(1II), (C)-(IV), (D)~(I)
3. (A)(ITI), (B)-(IV), (C)~(IT), (D)~(I)

4. (A)-(IV), (B)-(D), (C)-(1L), (D)~(1II)
Options:
878270156925. 1
878270156926. 2
878270156927. 3

878270156928. 4

Question Number : 122 Question Id : 87827039946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 G-I

(A) FEHAREEY " (I) =rF=ae:
(B)  HIgATSUEERAEE T IR (IT) ==
(C) =T AT T: (1) wee:
(D)  *IgR U9 72 W UETedl O (IV) waqi:

1. (A)-(D), (B)~(II), (C)~(III), (D)-(IV)
2. (A)-(ID), (B)-(1II), (C)-(IV), (D)~(I)
3. (A)(ITI), (B)-(IV), (C)~(IT), (D)~(I)

4. (A)-(IV), (B)-(D), (C)-(1L), (D)~(1II)
Options:
878270156925. 1
878270156926. 2
878270156927. 3

878270156928. 4

Question Number : 123 Question Id : 87827039947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 -1

(A) PoEE: (I) THEFR:
(B)  wHreriETEET (IT) ==
(C) wHeH~>FH (I11) e
(D)  wywA= (IV) "zFq

1. (A)-(D), (B)~(I), (C)~(IV), (D)~(IIl)
2. (A)-(IV), (B)-(I), (C)-(IID), (D)-(II)
3. (A)-(IT), (B)-(IIT), (C)-(T), (D)-(IV)

4. (A)-(III), (B)-(I), (C)-(IV), (D)-(1I)
Options:
878270156929. 1
878270156930. 2
878270156931. 3

878270156932. 4

Question Number : 123 Question Id : 87827039947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 -1

(A) PoEE: (I) THEFR:
(B)  wHreriETEET (IT) ==
(C) wHeH~>FH (I11) e
(D)  wywA= (IV) "zFq

1. (A)-(D), (B)~(I), (C)~(IV), (D)~(IIl)
2. (A)-(IV), (B)-(I), (C)-(IID), (D)-(II)
3. (A)-(IT), (B)-(IIT), (C)-(T), (D)-(IV)

4. (A)-(III), (B)-(I), (C)-(IV), (D)-(1I)
Options:
878270156929. 1
878270156930. 2
878270156931. 3

878270156932. 4

Question Number : 124 Question Id : 87827039948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 -1

(A) g (T) w2
(B)  wmETgRert (IT) eaeireis
(C)  =rgemwr (1T Torgeirem
(D) =g (IV) srerdrig

1. (A)(I), (B)-(IV), (C)-(I). (D)-(II)
2. (A)(I). (B)(II), (C)-(IV), (D)-(Il)
3. (A)(IT), (B)~(D), (C)<(III), (D)~(IV)

4. (A)-(IV), (B)-(D), (C)-(1L), (D)~(1II)
Options:
878270156933. 1
878270156934. 2
878270156935. 3

878270156936. 4

Question Number : 124 Question Id : 87827039948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 -1

(A) g (T) w2
(B)  wmETgRert (IT) eaeireis
(C)  =rgemwr (1T Torgeirem
(D) =g (IV) srerdrig

1. (A)(I), (B)-(IV), (C)-(I). (D)-(II)
2. (A)(I). (B)(II), (C)-(IV), (D)-(Il)
3. (A)(IT), (B)~(D), (C)<(III), (D)~(IV)

4. (A)-(IV), (B)-(D), (C)-(1L), (D)~(1II)
Options:
878270156933. 1
878270156934. 2
878270156935. 3

878270156936. 4

Question Number : 125 Question Id : 87827039949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 -1
(A)  wUSEE: (I) =T fae:
(B) (IT) =irag e
(C) R (I e e
(D) g&@ (IV) #rE, foe

1. (A)-(IT), (B)-(I), (C)~(III), (D)-(IV)
2. (A)-(ITI), (B)-(IV), (C)~(D), (D)~(TI)
3. (A)-(III), (B)-(), (C)-(IV), (D)-(TI)

4. (A)-(I), (B)-(III), (C)(II), (D)-(IV)
Options:
878270156937. 1
878270156938. 2
878270156939. 3
878270156940. 4

Question Number : 125 Question Id : 87827039949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 -1
(A)  wUSEE: (I) =T fae:
(B) (IT) =irag e
(C) R (I e e
(D) g&@ (IV) #rE, foe

1. (A)-(IT), (B)-(I), (C)~(III), (D)-(IV)
2. (A)-(ITI), (B)-(IV), (C)~(D), (D)~(TI)
3. (A)-(III), (B)-(), (C)-(IV), (D)-(TI)

4. (A)-(I), (B)-(III), (C)(II), (D)-(IV)
Options:
878270156937. 1
878270156938. 2
878270156939. 3
878270156940. 4

Question Number : 126 Question Id : 87827039950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. (B), (D), (A), (C)

2. (A), (B), (Q), (D)

3. (C), (B), (A), (D)

4. (A), (D), (B), (C)
Options :

878270156941. 1
878270156942. 2
878270156943. 3

878270156944. 4

Question Number : 126 Question Id : 87827039950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. (B), (D), (A), (C)

2. (A), (B), (Q), (D)

3. (C), (B), (A), (D)

4. (A), (D), (B), (C)
Options :

878270156941. 1
878270156942. 2
878270156943. 3

878270156944. 4

Question Number : 127 Question Id : 87827039951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

878270156945. 1
878270156946. 2
878270156947. 3

878270156948. 4

Question Number : 127 Question Id : 87827039951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

878270156945. 1
878270156946. 2
878270156947. 3

878270156948. 4

Question Number : 128 Question Id : 87827039952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. (B), (A), (C), (D)

2. (A), (B), (D), (C)

3. (A), (C), (D), (B)

4. (B), (D), (A), (C)
Options :

878270156949. 1
878270156950. 2
878270156951. 3

878270156952. 4

Question Number : 128 Question Id : 87827039952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. (B), (A), (C), (D)

2. (A), (B), (D), (C)

3. (A), (C), (D), (B)

4. (B), (D), (A), (C)
Options :

878270156949. 1
878270156950. 2
878270156951. 3

878270156952. 4

Question Number : 129 Question Id : 87827039953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. FIgTHRREHHGGR:

B. TgeN

C. argaaiEt

D. Aiga9aRiEEE:
R et P —

1. (D), (B), (C), (A)

2. (C), (A), (B), (D)

3. (A), (B), (D). (C)

4. (B), (C), (A), (D)
Options :

878270156953. 1
878270156954. 2
878270156955. 3

878270156956. 4

Question Number : 129 Question Id : 87827039953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. FIgTHRREHHGGR:

B. TgeN

C. argaaiEt

D. Aiga9aRiEEE:
R et P —

1. (D), (B), (C), (A)

2. (C), (A), (B), (D)

3. (A), (B), (D). (C)

4. (B), (C), (A), (D)
Options :

878270156953. 1
878270156954. 2
878270156955. 3

878270156956. 4

Question Number : 130 Question Id : 87827039954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. FRTATANGYRIG:

B. HETHIEINYEH

C. ISR =

D. qeH=
TR et Fore

1. (B), (C), (D), (A)

2. (B), (A), (D), (C)

3. (C), (D), (B), (A)

4. (A), (C), (D), (B)
Options :

878270156957. 1
878270156958. 2
878270156959. 3
878270156960. 4

Question Number : 130 Question Id : 87827039954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A. FRTATANGYRIG:

B. HETHIEINYEH

C. ISR =

D. qeH=
TR et Fore

1. (B), (C), (D), (A)

2. (B), (A), (D), (C)

3. (C), (D), (B), (A)

4. (A), (C), (D), (B)
Options :

878270156957. 1
878270156958. 2
878270156959. 3
878270156960. 4

Question Number : 131 Question Id : 87827039955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I

3

4.
Options:
878270156961. 1
878270156962. 2
878270156963. 3

878270156964. 4

Question Number : 131 Question Id : 87827039955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I

3

4.
Options:
878270156961. 1
878270156962. 2
878270156963. 3

878270156964. 4

Question Number : 132 Question Id : 87827039956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

878270156965. 1
878270156966. 2
878270156967. 3

878270156968. 4

Question Number : 132 Question Id : 87827039956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

878270156965. 1
878270156966. 2
878270156967. 3

878270156968. 4

Question Number : 133 Question Id : 87827039957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. (A), (C), (D), (B)

2. (B), (D), (C), (4)

3. (C), (A), (B), (D)

4. (D), (Q), (4), (B)
Options :

878270156969. 1
878270156970. 2
878270156971. 3

878270156972. 4

Question Number : 133 Question Id : 87827039957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. (A), (C), (D), (B)

2. (B), (D), (C), (4)

3. (C), (A), (B), (D)

4. (D), (Q), (4), (B)
Options :

878270156969. 1
878270156970. 2
878270156971. 3

878270156972. 4

Question Number : 134 Question Id : 87827039958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

878270156973. 1
878270156974. 2
878270156975. 3

878270156976. 4

Question Number : 134 Question Id : 87827039958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

878270156973. 1
878270156974. 2
878270156975. 3

878270156976. 4

Question Number : 135 Question Id : 87827039959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

878270156977. 1
878270156978. 2
878270156979. 3

878270156980. 4

Question Number : 135 Question Id : 87827039959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

878270156977. 1
878270156978. 2
878270156979. 3

878270156980. 4

Question Number : 136 Question Id : 87827039960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. 393 e (1) & (1) 9 = |
2. 399 At (1) & (II) =9 & |
3. W A (1) e T fad stoerr (1) s s
4. T e (I) s Toheq Tacde, st (1) s sife
Options :
878270156981, 1
878270156982. 2
878270156983 3

878270156984. 4

Question Number : 136 Question Id : 87827039960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
sAroEe (1) “HET A Z0d TSN 3 |

1. 393 aEe (1) & (1) 9 = |

2. 399 At (1) & (II) =@ & |

3. W AR (I) W T T stoerer (1) 2 #ife |
4. WA A (1) e T Tt st (1) wer s



Options :

878270156981. 1
878270156982. 2
878270156983. 3

878270156984. 4

Question Number : 137 Question Id : 87827039961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A (1) TR ST 9aid |
st (I0) Al §H dANHETT: |

1. 393 e (1) & (1) 9 = |
2. 393 AR ([) & (II) %9 & |
3. WERA A (1) T o T e (11) Hem =i |
4. were v (1) sracd fa Tediom sttaeerm (1) S |
Options:
878270156985. 1
878270156986. 2
878270156987. 3

878270156988. 4

Question Number : 137 Question Id : 87827039961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT AT HeRaEaH 2T |
A (1) TR STEE FAld |

st (I0) Al §H dANHETT: |

1. 393 e (1) & (1) 9 = |
2. 399 At (1) & (II) =9 & |
3. W A (1) e T fad stoerr (1) s s
4. T e (I) s Toheq Tacde, st (1) s sife
Options:
878270156985. 1
878270156986. 2
878270156987. 3

878270156988. 4

Question Number : 138 Question Id : 87827039962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TR, A HFTeaH 21 |
A (1) - HATGEHI HeEGIAT 7 e |
st (1) dles AT AT Fied @rEEEs |

U TR AlieTiedy Feheqy gy = -
1. 393 aEe (1) & (1) 9 = |
2. 399 At (1) & (II) =@ & |
3. WeHH A (1) T o Tadd e (11) 9 2|
4. verHH A (1) e e e A weeeE (1) 9 =i |



Options :

878270156989. 1
878270156990. 2
878270156991. 3
878270156992. 4

Question Number : 138 Question Id : 87827039962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
el AT HFIEEH 2T |
A (1) SFATIIEH= FeEdueET 7 [bed |

n

ataEEm (1) - qfes TaemedT AT e @ |
SRR TR ARy feheay g = -

1. 393 e (1) & (1) 9 = |
2. 399 At (1) & (II) =9 & |
3. e AT (1) 9 T fedie sriwere (11) e e
4. verHH A (1) =aed e e =Atweem (1) 9 =i |
Options:
878270156989. 1
878270156990. 2
878270156991, 3
878270156992. 4

Question Number : 139 Question Id : 87827039963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TRy AT HeRaTea e |
Aag (1) - PRIGUECIE R LY
Aty (10) - “FUCRISSIAIG 207 29 19 31 e |
YRR TRl Ay (e = = -
1. 39 e (I) & (1) g & |
2. 3w e (1) & (1) = & |
3. WA AT (1) | o Factom Ao (I1) e i)
4. vegw e (1) ee T i s (1) gom |
Options:
878270156993. 1
878270156994, 2

878270156995. 3
878270156996. 4

Question Number : 139 Question Id : 87827039963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AT AT e |
Ao (1) © W T e |
aragem (1) : “SUERISSHAIGE 307 T AT g e |
1. 393w (I) & (1) g & |
2. 3w e (1) & (1) e & |

3. WHH AW (1) 9 o T siwere (1) w9am i)
4. e A (1) e T i e (1) som A |



Options :

878270156993. 1
878270156994. 2
878270156995. 3
878270156996. 4

Question Number : 140 Question Id : 87827039964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT AT HeRaEaH 2T |

n

Araer (1) - ARG AATehed J2l A1 =907 |

st (I0) AT Y R AR gy |

1. 393 e (1) & (1) 9 = |
2. 399 At (1) & (II) =9 & |
3. e AT (1) 9 T fedie sriwere (11) e e
4. verHH A (1) =aed e e =Atweem (1) 9 =i |
Options :
878270156997. 1
878270156998. 2
878270156999. 3
878270157000. 4

Question Number : 140 Question Id : 87827039964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT AT HeRaEaH 2T |

n

Araer (1) - ARG AATehed J2l A1 =907 |

st (I0) AT Y R AR gy |

1. 393 e (1) & (1) 9 = |
2. 399 At (1) & (II) =9 & |
3. e AT (1) 9 T fedie sriwere (11) e e
4. verHH A (1) =aed e e =Atweem (1) 9 =i |
Options:
878270156997. 1
878270156998. 2
878270156999. 3

878270157000. 4

Sub-Section Number : 2
Sub-Section Id : 8782701675
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827039965 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



74 YAHTERER qOaeeT, SR, THeHeE ==,
Frser msé‘lﬁﬁmm FATeiTvEel S R, i?l‘rhﬂf;ﬁl TR AM,

IR, TR AT, Vel SH5HuSee |

Sub questions

Question Number : 141 Question Id : 87827039966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fafFRERT: 9 wai ?
1. o
2. @l
3. BRE
4. F=AH

Options :

878270157001. 1
878270157002. 2
878270157003. 3

878270157004. 4

Question Number : 142 Question Id : 87827039967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

878270157005. 1
878270157006. 2
878270157007. 3
878270157008. 4

Question Number : 143 Question Id : 87827039968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270157009. 1
878270157010. 2
878270157011. 3
878270157012. 4

Question Number : 144 Question Id : 87827039969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. mEn
2. d=:
3. AW
4. Tl
Options:
878270157013. 1
878270157014. 2
878270157015. 3
878270157016. 4

Question Number : 145 Question Id : 87827039970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
MMTEITEETOT FHErai: &1 afrar 1R ?
1. <A
2. gl
3 ‘;ITFEI
4. A
Options :
878270157017. 1
878270157018. 2
878270157019. 3
878270157020. 4

Question Id : 87827039965 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)



Question Label : Comprehension

T GFHTANERT JOTvaeeA, RO, e S,
EELKE msﬁéﬁwnq ﬁa’retvﬁﬂﬁa-frﬁr T =T, ﬁﬁmﬁl A,

\ID”‘E!E‘;EH”'”]L, ﬁ“ﬁul ! Ly 5 i 1, Halq:” Eﬁﬂﬂ:ﬂﬂ%@], EﬁEi%EH
FIEHN:, T A, TEoel HGHTZeed |

Sub questions

Question Number : 141 Question Id : 87827039966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

faFRIET: = |a ?
1. =
2. F
3. ERE
4. F=™

Options :

878270157001. 1
878270157002. 2
878270157003. 3
878270157004. 4

Question Number : 142 Question Id : 87827039967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

878270157005. 1
878270157006. 2
878270157007. 3
878270157008. 4

Question Number : 143 Question Id : 87827039968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270157009. 1
878270157010. 2
878270157011. 3
878270157012. 4

Question Number : 144 Question Id : 87827039969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1. mEn
2. d=:
3. AW
4. Tl
Options:
878270157013. 1
878270157014. 2
878270157015. 3
878270157016. 4

Question Number : 145 Question Id : 87827039970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
T eETOT FErEst: 1 afeiar o 2
1. <A
2. gl
3 EITE—'[
4. A
Options :
878270157017. 1
878270157018. 2
878270157019. 3
878270157020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701676
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Id : 87827039971 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

T AEE RN AT AT EAEaa s e |

22 LI B 38 o A 5 A e 1 N o o
AR R =TT e el e AT | il TR THTERTe
CEPRICAAITER | T B B e e
ﬁwmlqmmﬁwﬁWmﬁﬁWW|
TR G TR oA | 3 e
AR AR | el TeROTA IO Sedeed a1 o d 9 T |
90 AERATR 9% T dEed R AEd sy T e
;TS 2 | VRO o o TRTaHeare: | 391 394 ‘30 e
A 4 A A (AR el ATt |

Sub questions

Question Number : 146 Question Id : 87827039972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
SEYEET YT Felft] dOATa o] 9495 ?
1. fEmE:
2. e
5. HAWH
4. A

Options :



878270157021. 1
878270157022. 2
878270157023. 3
878270157024. 4

Question Number : 147 Question Id : 87827039973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1. T
2. 3YEAT

-

3. HhUH

4. FomE:
Options :
878270157025. 1
878270157026. 2
878270157027. 3

878270157028. 4

Question Number : 148 Question Id : 87827039974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1. RiEmE:
2. 3HiE

Options :



878270157029. 1
878270157030. 2
878270157031. 3

878270157032. 4

Question Number : 149 Question Id : 87827039975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
L I
2. 9=l
3. /IR
4. ST
Options :
878270157033. 1
878270157034. 2
878270157035. 3

878270157036. 4

Question Number : 150 Question Id : 87827039976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
EEILEEECTIN
1. STRIUT: THTIIRIESH R |
2. FRIT: U= AfaaTe |
3. SR Al 9 UNIEH |
4. FEIT: UHHEHIAA |

Options :



878270157037. 1
878270157038. 2
878270157039. 3

878270157040. 4

Question Id : 87827039971 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

LEE e R eI R e B e LEL (B W ISRk e Ep E R PTG e U A oo
21 S S - A s T G £ B 1 s N 4
AR ERI =TT Tl e AT | e TR AT
CEPRIETFATGER | 7 g WS e e
ﬁqwuﬁuwwmwaﬂaﬁﬂwﬁwﬂaﬁhwﬁﬁmﬁm
RERU R NRIGERIFGIRE s A L e ez e NI N £ 1 FRRE G
HIRITAERRIR | el ) WO T eI Sefiied a1 o e 2ol T |
I AERATR 9% 7 qEed R AEd s T ke
;SIS 2 | VRO o o TRTaHeare: | 391 99 ‘30 doeesel
P A T AT P S|

Sub questions

Question Number : 146 Question Id : 87827039972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ARSI TR A IR FA1d ?

1. pEmeE:
2. e
3. A9UH
4. ST

Options:

878270157021. 1

878270157022. 2

878270157023. 3

878270157024. 4

Question Number : 147 Question Id : 87827039973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1.
2. YA

3. HPUH

4. R
Options :
878270157025. 1
878270157026. 2
878270157027. 3
878270157028. 4

Question Number : 148 Question Id : 87827039974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

878270157029. 1
878270157030. 2
878270157031. 3
878270157032. 4

Question Number : 149 Question Id : 87827039975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

 FSR 1
2. del
3. Heg:
4. ST
Options :
878270157033. 1
878270157034. 2
878270157035. 3
878270157036. 4

Question Number : 150 Question Id : 87827039976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fera g 2

1. ST ORI o |
2. SR TR AfadTeA |
3. SR AT 9 IR |
4. FEIT: AR |

Options:

878270157037. 1

878270157038, 2

878270157039. 3

878270157040. 4



